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UGC NET PAPER 2 DECEMBER 25, 2021 SHIFT 2 VISUAL ART QUESTION PAPER

Topic:- VisualArt_SHAAN_NOVZ1A

1) Recently Buddhist monastery dating to the Kushana period was excavated at Mes Aynak. Where is this site located?

IcT A A3 RIS # [UIVI @I ©I &b dig [AeR srxiciel d e & as el el e & ?

[Question ID = 527][Question Description = 52_qSNz_PG_VIS_QO01]
1. Afghanistam /sreenfezam [Option 1D = 2105]

2. Pakistan/ulRszam [Option 1D = 2106]

3. Uzbekistan/szaFssemm [Option 1D = 2107]

4. Rajasthan, India/s=zemm, soem [Option 1D = 2108]

Correct Answer :-
e Afghanistam/sreenfeam [Option ID = 2105]

2) Jangarh Singh Shyam is known as the flag bearer of a particular tribal{Adivasi) art. Name it.

sloel iz 9w o uos faforee anfearsft oo o tas aEe @ U 3 Sl =R 2 33T ol Jdlu |

[Question ID = 528][Question Description = $2_qSNz_PG_VIS_Q02]
1. Wali/adf [Option ID = 2109]

2. Bhil/sfier [Option 1D = 2110]

3. Gond/sitz [Option D = 2111]

4. Saura/dts [Option ID = 2112]

Carrect Answer :-
& Wali/aeft [Option ID = 2109]

3) Which is the earliest structural temple of Pallava period?
ooor Wi w1 Fafities et Avaeens #ier wisr mr 3 7

[Question ID = 529][Question Description = $2_qSNz_PG_VIS_Q03]
1. Kailashnath Temple, Kanchipuram/<dengrmey #ifgz, widigza [Option ID = 2113]

2. Shore Temple, Mahabalipuram /siz #if2z, smmetige [Option 1D = 2114]

3. Vaikuntha Perumal Temple, Kanchipuram /o e, oy [Option 1D = 2115]
4, Bhima Rath, Mahabalipuram /sierzer, semedigeer [Option 1D = 2116]

Correct Answer :-
» Kailashnath Temple, Kanchipuram/@egmr siigz, siligza [Option ID = 2113]

4) From the following which one is regarded as the first tomb constructed in marble in India?

forgmterian A 31 fipw AR ®I W A A 2 TARIT SR G Ahad HIell Sl & 7

[Question ID = 530][Question Description = 52_qSNz_PG_VIS_Q04]
Hoshang Shah's Tomb/gvi soe @1 apasr [Option 1D = 2117]

Taj Mahal /e s [Option ID = 2118]

Tomb of [tmad-ud-Daula/smis - 35 - gten @1 & [Option 1D = 2119]

Bibi ka Makbara/d=t =1 o= [Option ID = 2120]

N VY R S

Correct Answer :-
¢ Hoshang Shah's Tomb/sEt es @t @imseer [Option ID = 2117]

5) Shung sculpture of Chulkoka Yakshi, found in Bharhut shows the Yakshi standing on:

azge # urd 3 gornrot Afdmft 6 ojet wrcfla aft 3 39 e uz st Rarn srn & ?

[Question ID = 531][Question Description = 52_qSNz_PG_VIS_Q05]

1. Lotus/@ma

[Option ID = 2121]
2. Lion/f=

[Option ID = 2122]
3. Elephant/greft

[Option ID = 2123)
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| 4. Tortoise/amg

[Option ID = 2124]

Correct Answer ;-

e Lotus/oaa

[Option ID = 2121]

6) Who has directed the documentary film Meeting Manjit?

g R "diiier sshia @1 fordvrer Rpsot fven & 7

[Question ID = 532][Question Description = S2_qSNz_PG_VIS_Q06]
1. Buddhadeba Dasgupta/ggda semm [Option 1D = 2125]

2. Ina Puri/zem gét [Option 1D = 2126]

3. Jyoti Bhatt/=iiT sz [Option 1D = 2127]

4. Shyam Benegal/g=ma datere [Option 1D = 2128]

Correct Answer ;-
e Buddhadeba Dasgupta/gsoa srmpm [Option 1D = 2125]

7) Who has authored the book Art as Experience?

"HE gel gaHfuiida" gaEie &t Taon fewor &1 2 7

[Question ID = 533][Question Description = $2_qSNz_PG_VIS_Q07]
1. C. J. Ducasse/30t o1 =g [Qption (D = 2129]

2. R. G. Callingwood/am. Sft. seiedags [Option 1D = 2130]

3. HNelson Goodman/aicsmt gizdia [Option 1D = 2131]

4. John Dewey/sia 34t [Option 1D = 2132]

Correct Answer :-
o C. J. Ducasse/3h o1 sg=m [Option D = 2129]

8) Images of Shiva are found in Gajahasta mudra in which of the following sculptures:
fomfeifiaa A 2 fea FA A B Bl sl s g A ug ot & ?

[Question ID = 534][Question Description = $2_qSNz_PG_VIS_Q08]
1. Kalyan Sundar/ese=m goos
[Option ID = 2133]
2. Natra] /==
[Option ID = 2134]
3. Ravan Anugrah/zmw agEE

[Option ID = 2135]
4, Ganga Avataram/sPm sRFo

[Option ID = 2136]

Correct Answer :-
& Kalyan Sundar/@c=m Foaz
[Option ID = 2133)

9) Which painter is famous as the 'Bhilon ka Chitera' (Painter of 'Bhil' tribe) :

Dol I ez "fidl o1 Bam” & (st serenfa = Ragor) su d giing 8 7

[Question ID = 535][Question Description = $2_qSNz_PG_VIS_Q09]
Kripal Singh Shekhawat/som Bz dmaa [Option ID = 2137]

Ram Gopal Vijayvargiva/zm siam fereesil [Option 1D = 2138]

Bhoor Singh Shekhawat/sgiiz d=mam [Option 1D = 2139]

Goverdhanlal Joshi/simslerene sitelt [Option 1D = 2140]

oW =

Correct Answer ;-
# Kripal S5ingh Shekhawat/gmea Big gemaa [Option 1D = 2137]

10) Which traditional painting style is characterized by Bold and Contrast colours consistency?

fopar ardufye Ry, Sicht &t Rfdrscar & o sz Bdieh 3o1 gwwam
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[Question ID = 536][Question Description = $2_qSNz_PG_VIS_Q10]
Kangra style/wiwmst diclt [Option ID = 2141]

tughal style/spm Sicht [Option 1D = 2142]

Rajasthani style/zrarsemdt sicht [Option 1D = 2143]

Ajanta style/ s siclt [Option 1D = 2144)

oL B

Correct Answer :-
a Kangra style/semt dicft [Option 1D = 2141]

11) The term 'ORPHISM’ coined by whom?

"smibea oG @I koo arGT ?

[Question ID = 537][Question Description = 52_qSNz_PG_VIS_Q11]
Apcllinaire f sndiieiicerz [Option 1D = 2145]

Andy Warhol/<st @zle [Option 1D = 2146]

Louis Vauxcelles /e armwa [Option 1D = 2147]

Le Corbusier/=m w=ghs [Option 1D = 2148]

o R

Carrect Answer :-

e Apollinaire/ sadieiskr [Option (D = 2145]

12) Which of following is known as 'The Divine Proportion’ as proposed by Leonardo de Vinci-
feriionet © Rl g yzfa, fomeiftiiaa & 31 3 i sramoquid (g f2ama grateler) & sa 3 sien s 8 ?

[Question ID = 538][Question Description = $2_qSNz_PG_VIS_Q12]
1. Praxiteler's law/Ufersefera <ff [Option 1D = 2149]

2. Rule of the Thirds/=e 3iiw 5 ag [Option |D = 2150]

3. The Golden Ratio/s #itlcs= 34t [Option 1D = 2151]

4. Fibonacci sequence/fsRriaeh Breda [Option 1D = 2152]

Correct Answer :-
& Praxiteler's law/QferRem f [Option 1D = 2149]

13) Modern Indian Painter G. R, Santosh is known for which of the following?
anggfores W fergeez i, ane, ddm forer 3f A v o foe s1er @i 2 7

[Question ID = 539][Question Description = $2_qSNz_PG_VIS_Q13]
1. Mythological Content/dizfirs feeesg

[Option ID = 2153]
2. Social Realism /st awnedas

[Option ID = 2154]
3. Kashmiri Shavism /esoafid daan

[Option ID = 2155]
4, Expressionist trends/sficrmencarn gafé

[Option ID = 2156]

Correct Answer :-
s Mythological Content/ulaiire fiagasg

[Option ID = 2153)

14) Write the name of artist who was inspired by"Kalighat Pattachitra"?

[Question ID = 540][Question Description = $2_qSNz_PG_VIS_Q14]

1. Amrita Shergil/amrn deBrr [Option 1D = 2157]
2. A. R. Chugtai/e. amz gewss [Option (D = 2158]
3. Asif Kumar Haldar/afa a0 zeee [Qption 1D = 2159]
4. Jamini Roy/aied 3= [Option 1D = 2160]

Carrect Answer :-
* Amrita Shergil/smgar e [Option ID = 2157]

13) Which Indian Painter who was also a sculptor, a muralist, and an Architect of the post-Independent era, passed away
on March 26, 2020?

26 srd, 2020 @t Koo sl Rigeeie o1 Breret gan sl Fandame @ @ o Jickor, 91 eppe Az asgor i 4 7
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[Question ID = 541][Question Description = S2_qSNz_PG_VIS_Q15]
1. Jahangir Sabavala/==kliz Feacn

[Option ID = 2161]
2. Akbar Padamsee/1gas ugisl

[Option ID = 2162]
3. Satish Gujral/=rlsr s

[Option ID = 2163]
4. Bhaveshchandra Sanyal/ sriterreg e

[Option ID = 2164]

Correct Answer :-
e Jahangir Sabavala/seelz o

[Option ID = 2161]

16) What effect is created through horizontal lines?

Sifersr Y=l @ mean A wier A gura & won A E ?

[Question ID = 542][Question Description = $2_qSNz_PG_VIS_Q16]
Anxiety/=erm [Option ID = 2165]

Agitation/sisr [Option ID = 2166]

Excitement/sa=mn [Option 1D = 2167]

Tranquillity/genfer [Option 1D = 2168]

oLk B2

Correct Answer :-
& Anxiety/omepn [Option 1D = 2165]

17) Web design refers to the design of websites that are displayed on which of the following?
¥ Ronser wr wef 3 a5 dause Renger sit ol # A vail # gohbfa & 2

[Question ID = 543][Question Description = $2_qSNz_PG_VIS_Q17]
1. Print media/fie Big=n

[Option ID = 2169]
2. Digital Banners /e dot

[Option ID = 2170]
1. Billboards/feooe w=

[Option ID = 2171]
4, Internet/scxc

[Option 1D = 2172]
Correct Answer :-
& Print media/ it Bif=n
[Opticn ID = 2169]

18) Which kind of billboards allow animated advertisement to be displayed via LED screens
fep71 Yoz @ et Uzl uz uasdl r@la & sty wela efordies e gefdfa fipw & sraser £ 7
[Question ID = 544][Question Description = $2_qSNz_PG_VIS_Q18]

Static billboards/ s e a2 [Option 1D = 2173]
Mobile billboards/zeaw femum uws [Option D = 2174]
Digital billboards/ffes e ug [Option 1D = 2175]
Web pages/d3 g [Option 1D = 2176]

o kad RJ

Correct Answer ;-
e Static billboards/ srem Rremasr oz [Option 1D = 2173)

19) 'CTP' is a term in printing that signifies:

oot & "W & Y o1 aref B ¢

[Question ID = 545][Question Description = $2_qSNz_PG_VIS_Q19]
1. Computer to Print/mwes 3 ggon [Option 1D = 2177]
2. Computer to Paper/@wes 3 awm [Option ID = 2178]
3. Computer to Plate/@wes 3 wie [Option 1D = 2179]
4. Computer Pre-press/mwyes -t [Option 1D = 2180]
Correct Answer :-
e Computer to Print/=wgs 3t ygm [Option ID = 2177]
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20) Wood engraving is done on wooden plank which has the following

as Coulfdst s oo Bt Al @ worw uz Ry siar §

[Question ID = 546][Question Description = S52_qSNz_PG_VIS_Q20]
1. Side grain / =55 3@
[Option ID = 2181]
2. End grain / dz 3=
[Option ID = 2182]
3. Plain grain / == 3

[Option ID = 2183]
4. Long grain / dicet 3w

[Option ID = 2184]
Correct Answer ;-
e Side grain / s amr

[Option ID = 2181]

21) Gmail is a great example of;
sfiirer Broar 3 31 Rt weror 3o § 7

[Question ID = 547][Question Description = 52_qSNz_PG_VIS_0Q21]
Informercial /smematike [Option 1D = 2185]

Infographics/smwepiera [Option 1D = 2186]

Web application/aa eftexbemr [Option 1D = 2187]

Advertorial fesmdiierT [Option D = 2188]

e ld B

Correct Answer :-
e [nformercial fsmomzatdferm [Option 1D = 2185])

22) Which of the following headline is not written by David Ogilvy:
frrafeillaa 3 A fvar oftd aftpa ot 2fs sdiPadt & ot foren o -

[Question ID = 548][Question Description = $2_qSNz_PG_VIS_0Q22]
1. "At 60 miles an hour the loudest naise in the new Rolls-Royce comes from the electric clock”. /60 Him uffr a2 <5 =1ffr A oo =t =& Jvw == # wiErD gilz

Rger aftwr oot A=km 2

[Opticn ID = 2189]
2. "Now woman over 35 can look younger”/" ara 35 adf 31 Mftes &5t Jden gar o1 ot §

[Option ID = 2130]
3. "The man in the Hathway Shirt"./"s #er s o s o™

[Option ID = 2191]
4. "I'm loving it"/ams i A= =

[Option ID = 2192)]

Correct Answer :-
& "At 60 miles an hour the loudest noise in the new Rolls-Royce comes from the electric clock”, /60 #i qfét w2t 5t =ifer A T 28 o At @ 3 wwilfens iz
fergyer aftn ot 2w 2

[Option ID = 2189]

23) Which of the following is not the function of packaging?

Braftfa A A o BT mr ot aft 3§

[Question ID = 549][Question Description = S2_qSNz_PG_VIS_Q23]
ldentification/amem= [Option (D = 2193]

Recycling/gar: sweiter [Option (D = 2194]

Protection/Szgmor [Option ID = 2195]

Communication /sao [Option ID = 2196]

ol B

Carrect Answer :-
* |dentification/uamre [Qption |D = 2193]

24) Who is called "the Father of Advertising"?
"fRsITaet Wer Wl Solds K53 el S & 7

[Question ID = 550][Question Description = $2_qSNz_PG_VIS_0Q24]
Paul Rand/die 35 [Option 1D = 2197]

David Ogilvy/2fs aiferedt [Option 1D = 2198]

Walter Gropius/@e=s aftftem [Option D = 2199]

Largo Moholy Nagy/ el gt st [Option ID = 2200]

P bl B —

Correct Answer :-
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25) Stanley William Hayter established "Atelier 17" in-

Feoid Riferad 3ace & "welorr 17" bt wenmaon Res ad d <1 1 ?

[Question ID = 551][Question Description = $2_qSNz_PG_VIS_0Q25]
192671926 [Option ID = 2201]
192871928 [Option ID = 2202]
191471914 [Option ID = 2203]
193071930 [Option ID = 2204]

o kad RJ

Correct Answer ;-
o 1926/1926 [Option 1D = 2201]

26) "Chhaap - Baroda" was established by:
" - a@3igl &t Temgen s &t oft 7

[Question ID = 552][Question Description = S2_qSNz_PG_VIS_Q26]
1. Kavita Nayar/ssiear sz [Option 1D = 2205]

2. Rini Dhumal/f¥sft yge [Option 1D = 2206]

3. R. M. Pallaniappan/am w1 wemsizsogd [Option 1D = 2207]

4. Gulam Mohammed Sheikh /spmr sz 9 [Option 1D = 2208]

Correct Answer :-

& HKavita Nayar/ofr e [Option 1D = 2205]

27) "Conte" and "Tusche" are used in:

"miee” a g wr gaer Beatefiaa # A Rl o suen B 7

[Question ID = 553][Question Description = S2_qSNz_PG_VIS_Q27]
1. Photography/wiciems: [Option 1D = 2209]

2. Serigraphy/3dendt [Option 1D = 2210]

3. Lithography/feispdt [Option 1D = 2211]

4. Intaglio/#2feal [Option ID = 2212]

Correct Answer :-

& Photography/®eEEét [Option (D = 2209]

28) "Christ on the throne being mocked" was created by:
"I 3iid © ¢ia diderdias" i e Rowa & ¢ ?

[Question ID = 554][Question Description = 52_qSNz_PG_VIS_0Q28]
Henri Matisse /&t ardta [Option (D = 2213]

Albrecht Durer /werzmt ooz [Option ID = 2214]

Rembrandt /¥ [Option 1D = 2215]

Frans Snyders/wis st [Option ID = 2216]

R

Correct Answer ;-
& Henri Matisse/ 3= arli= [Option 1D = 2213]

29) In India, wood intaglio was introduced by :

W d wIeo Fecbiviel &t ez Rewwet @ ot ?

[Question ID = 555][Question Description = $2_qSNz_PG_VIS_0Q29]
1. N. Krishna Reddy/wer. wom $5it

[Option ID = 2217]
2. Sanat Kar/aemoes

[Option ID = 2218]
3. Somnath Hore/sitaem 82

[Option ID = 2219]
4. Dattatraya Apte/zaem ance

[Option ID = 2220]

Correct Answer :-

e N. Krishna Reddy/wer. @ ¥zt
[Option ID = 2217]

30) Mezzotint was invented by:
oo @ sufimwore foaiciiaa & A owe Ko e @
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[Question ID = 556][Question Description = $2_qSNz_PG_VIS_Q30]
Franz Cizek/wim Beer [Option 1D = 2221]

Joseph Hecht/=i@w 2az [Option ID = 2222]

Ludwig Yon/ogsfm dfm [Option 1D = 2223]

William Hayter/fiffre 3=z [Option ID = 2224]

P bl D —

Correct Answer ;-
e Franz Cizek/grm Bty [Option 1D = 2221]

31) In ancient method of printing, the ink used was
#out &t yrflar faf?r 3 geiiter 6t acrarcht =gt oft -

[Question ID = 557][Question Description = 52_qSNz_PG_VIS_Q31]
1. Water-based/srr amuf [Option 1D = 2225]

2. 0Oil-based/am amenfea [Option (D = 2226]

3. PVY(C- based/tt it 3ft amenf¥a [Opticn 1D = 2227]

4. Ceramic-based/ /B smola [Option 1D = 2228]

Correct Answer :-
® Water-based/w= sment¥a [Option ID = 2225]

32) In 1990, the Indian "Printmakers Guild" was established by:
1990 # aneeller "Rcarrd Bres" & venmgen fsaer &6t ?

[Question ID = 558][Question Description = $2_qSNz_PG_VIS_Q32]
1. Jayant Gajera/@mrT st [Option 1D = 2229]

2. Kavita Shah/wRrn sms [Option 1D = 2230]

3. Jai Zharatia/eer =rafe=n [Option 1D = 2231]

4. Kanwal Krishna/eee gor [Option ID = 2232]

Carrect Answer :-
& Jayant Gajera/adm sem [Option ID = 2229]

33) 'Flute Player’ is a sculpture by :

oI oo eretterRan & 3t Roero gt forea § 7

[Question ID = 559][Question Description = 52_qSNz_PG_VIS_Q33]
1. P. R. Pochkhanawala/vit. am=. dig=memen [Option ID = 2233]

2. Ratnabali Kant/z=mf o [Option 1D = 2234]

3. Amar Nath Sehgal/ sm=ane mzsw [Option D = 2235]

4, Dhan Raj Bhagat/useme serr [Option 1D = 2236]

Correct Answer :-
¢ P, R. Pochkhanawala/dt. anz dememmen [Option 1D = 2233]

34) Identify the ‘Installation artist’ from the following
forgmterfiaa & 31 "gfimomge saer’ Bt usam $ifew ¢

[Question ID = 560][Question Description = 52_qSNz_PG_VIS_Q34]
Laurens fends [Option ID = 2237]

Lehmbruck/3zmgs [Option 1D = 2238]

Barlach/szemw [Option ID = 2239]

Christo/fszer [Option 1D = 2240]

o 2

Correct Answer :-
® Laurens/ama [Option 1D = 2237

35) 'The Dying Centaur' is a sculpture by
"% srEw gz foraifartian 3 3 oot ofet foreu 2 7

[Question ID = 561][Question Description = S2_qSNz_PG_VIS_Q35]
Antoine Bourdelle/eritre dedeet [Option (D = 2241]

Marino Marixi/=d=l otk [Option ID = 2242]

Georg Baselitz/3El amdfcea [Option 1D = 2243]

Andrea Cascella/diz=n ==8ar [Option 1D = 2244)]

a2

Correct Answer :-
& Antoine Bourdelle /ddisst dizgeet [Option |D = 2241]

36) ‘BonQuet’ is a sculpture by
g i Prou o) Beoftiaa # 3 Rowe! aemrn § ?

[Question ID = 562][Question Description = 52_qSNz_PG_VIS_Q36]
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Anthony Caro/geel =it [Option (D = 2245]
Pablo Picasso/umel fimersl [Option ID = 2246]
Jeff Koons/aw @t [Option 1D = 2247]

Kiki Smith /=55t Rarer [Option ID = 2248]

oW

Correct Answer ;-
o Anthony Caro/demt wrt [Option 1D = 2245]

37) Glyptic mode of rendering form is associated with
a4 ol o Baftew Afer Peafefioa I avag & :

[Question ID = 563][Question Description = S2_qSNz_PG_VIS_Q37]
Welding /zmmt (R==r) [Option |D = 2249]

Carving /srrstt [Option 1D = 2250]

todelling/gitrmam [Option 1D = 2251]

Casting/geug [Option ID = 2252]

b P

Carrect Answer :-
* Welding/zeng (gic=er) [Option |D = 2249]

38) Carborundum stone is a crystalline compound of
wElwsHa ucr Beafilaa # 3 Roa o forcdi 4t 2 7

[Question ID = 564][Question Description = S2_qSNz_PG_VIS_Q38]
1. Calcium and Silica/@f@ormr stz Bierer [Option 1D = 2253]

2. Carbon and Aluminiun/@ e # eegiEfere [Option (D = 2254]

3. Carbon and Silicon/mE di ks [Option 1D = 2255]

4. Calcium and Aluminium/®Rerm sz vogfbrm [Option 1D = 2256)

Correct Answer ;-
o Calcium and Silica/ofterm Jiz Bilfrm [Option 1D = 2253)

39) Henry Moore was influenced by
Zordl 37 foraiciRan 3 31 few A paforr ge & ?

[Question ID = 565][Question Description = 52_qSNz_PG_VIS_0Q39]
1. Egyptian Sculptures/fiz @ i Brea

[Option ID = 2257]
2. African Sculptures/ ey i o

[Option ID = 2258]
3. Maya, Aztec Sculptures/#RT vacw #iT BET

[Option ID = 2259]
4. Indian Sculptures/smzi 71l Biea

[Option ID = 2260]

Correct Answer ;-

e Egyptian Sculptures/fg @ aiT Brew
[Option ID = 2257]

40) 'Blowing the Conch' is a sculpture by
"seiigel ¢ wia” fewwr i forea & ?

[Question ID = 566][Question Description = 52_qSNz_PG_VIS_Q40]
1. P. V. Janakiram/dt. <t smerbem [Option ID = 2261]

2. Vinayak Pandurang Karmarkar/Remnr wigse waars: [Option (D = 2262]

3. Himmat Shah /& ooz [Option D = 2263]

4, Shiv Singh/femr £ [Option 1D = 2264]

Correct Answer :-
o PV, Janakiram/dt <. smerbem [Option 1D = 2261)

41) Choose from the following the monuments that have an apsidal plan.
A. Bhaja Chaitya

B. Lad Khan Temple, Aihole

C. Durga Temple, Aihole

D. Vaital Deul, Bhubaneswar

E. Trivikram Temple, Ter(Maharastra)

Choose the correct answer from the options given below:
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Fufiraioey 9 A TCIAST IEA AT TAIRD oL -

A. sen deg

B. o= o silez, smaa

C. gt 4fee, amdla

D. dnre 23c1, Haolaz

E. Kifiepm #ifd, av (scrms)

oikl T s1e fempedl A 31 Hdt st ol o/ Bl

[Question ID = 567][Question Description = S2_qSNz_PG_VIS_Q41]
1. A, Band C only/@am A, Bafiz C

[Option ID = 2265]
2. A, CandEonly/@mm A, Caliz E

[Option ID = 2266]
3. B,DandEonly/®=a B, Dafiz E

[Option ID = 2267)
4, C,Dand Eonly/@aa C, DA E

[Option ID = 2268]

Correct Answer ;-

o A BandConly/@am A, Baiz C
[Option ID = 2265]

42) Select from the following the artists who were faithful to the Surrealist movement.
A. Andre Derain

B. Marcel Duchamp

C. Salvador Deli

D. Rene Magritte

E. Joan Miro

Choose the correct answer from the options given below:

Frfivelioe 3 2 wrerm w3 & wvaro S1 afaeiaE sneeiaa @ i Rreomme @
A. armeg o3

B. arefer zen

C. scaEi srl

D. Y01 sim1f¥e

E. amet fim1

ol fou s1e fepedl 3 3 Ad 307 @1 aus dHifen: ©

[Question ID = 568][Question Description = 52_qSNz_PG_VIS_Q42]
1. A, Band C only/dam A, Bafiz C

[Option ID = 226%]
2. B,Cand Donly/admm B, Caliz D

[Opticn ID = 2270]
. C,Dand Eonly/@aa C, DR E

[Option ID = 2271]
4., A, Cand Donly/adaa A, CaEz D

[Option ID = 2272]

| Correct Answer -
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o A BandConly/@am A, Baiz C
[Option ID = 2269]

43) ldentify the correct set of Dhyani Buddhas (Buddhas in meditation)
A. Maitreya

B. Amitabh

C. Manjushree

D. Vairochana

E. Avalokitesvara

Choose the correct answer from the options given below:

£RAMGIFE G5 © S MM A I B Usaml

A. Fia

B. aifdrn

C. el

D. T

E. smcifRparas

ofl B oo Repedi A A Aft s @l ¢

[Question ID = 569][Question Description = 52_qSNz_PG_VIS_Q43]

1. Aand B only/=wm A 3z B [Option D = 2273]
2. Cand D only/fwerr C sz D [Option |D = 2274]
3. Aand E only/dsmm A afiz E [Option 1D = 2275]
4. Band D only/@=a B bz D [Option ID = 2276]

Carrect Answer :-
# AandB only/dwme A 3fiz B [Option D = 2273]

44) Choose the salient features of medieval manuscript painting "Kalpasutra’
A. Farther Eye

B. Angular and crispy lines

€. Chiaroscuro

D. Transparency of colours

E. Pointed nose

Choose the correct answer from the options given below:

AsRelid sl Ry "wousgy &t Scoweia fadaan got ¢

A, 391} @Bz formel ol

B. ®wik vd oz Ymikma

C. s Y@mrer

D. =1 &t arzcidfan

E. gebictt sup

oifer o are femseal 3 31 7t 3ne 9o ¢

[Question ID = 570][Question Description = 52_qSNz_PG_VIS_Q44]

1. A, B and C only/@== A, B 4z C [Option D = 2277]

2. C, Dand E only/@aam €, D &= E [Option ID = 2278]

3. B, Cand D only/@am B, C &fiw D [Option ID = 2279]

4, A, B and E only/<mm A, B siiz E [Option 1D = 2280]

Correct Answer :-

o A, BandC only/omm A, B 3z C [Option (D = 2277]

45) In literature and arts Romanticism was focused on
A. Individual Freedom

B. Love for Nature
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C. Classicism
D. Morality
E. Imagination superior to reason

Choose the correct answer from the options given below:

Afdra T wen A Aiacns dioga &

A. caltpem Fadqge

B. gepi gm

C. skame

D. siferesm

E. moafts 3 a3t § woussficrr

ol fou s1e faepedl 3 3 A8 F0e @1 aus difene ©

[Question ID = 571][Question Description = 52_qSNz_PG_VIS_Q45]

1. A, Band C only/gmm A, B iz C [Option [D = 2281]
2. B, Cand Donly/@mm B, C afiz D [Option 1D = 2282]
3. C, Dand Eonly/<dmm C, D afz E [Option ID = 2283]
4. A, Band E only/@aa A, B afiz E [Option ID = 2284]
Correct Answer :-

s A, Band C only/d@as A, B aiiz C [Option |D = 2281]

46) ldentify the artists who were associated with school of 'BAUHAUS’
A. Mohaly Nagy

B. Paul Klee

€. Naum Gabo

D. Mark Rothko

Choose the correct answer from the options given below:

'gaa el A Hug worerl o geaiie

A. wrselt sl

B. dier acht

C. i3 s1El

D. s’ Jerpt

ol Bn o1 Repedi A A Aft s @l ¢

[Question ID = 572][Question Description = $2_qSNz_PG_VIS_Q46]

A and B only/dwm A &z B [Option 1D = 2285]

B and C only/@ae B 4z C [Option 1D = 2286]
C and D only /@ C 3fiz D [Option D = 2287]
A and D only/@ae A 4z D [Option ID = 2288]

a2

Carrect Answer :-
# A and B only/@aa A sz B [Option 1D = 2285]

47) Identify the Kant's theory of aesthetics from the following,
A, Theory of Intuition

B. Theory of Critique of Pure Reason

C. Theory of imitation

D. Theory of Critique of Judgement

E. Theory of Imagination

Choose the correct answer from the options given below:

foramfcilRan 3 31 wioc O Higderz Rigi ® gsniee:
A. et sl SR
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B. 2=ith site Rpfes sifw wie Aster

C. e site shierst

D. e=itdt siiw Rpiw sifw st

E. =il sifw safimiem

ofl Bn =1 Repedi A A Aft s @l ¢

[Question ID = 573][Question Description = S2_qSNz_PG_VIS_Q47]

1. A and B only/=wm A diiz B [Option D = 2289]
2. Cand D only/@aa C 3fiz D [Qption D = 2290]
3. A and E only/ae A 4is E [Option ID = 2291]

4. Band D only/@ae B 4z D [Option ID = 2292]

Carrect Answer :-
& A and B only/<@a A afiz B [Option (D = 2289]

48) Identify the artists who were associated with group 'Shilpi Chakra’
A, B. C, Sanyal

B. Mchan Samant

C. Kanwal Krishna

D. D. G. Kulkarni

Choose the correct answer from the options given below:

'forcu @’ W9E A AN WARDRI O Ui

A. =3l SeRma

B. dHiwel Awca

C. waa g

D. 3% 5ft. @wewpvuil

oifer o are femseal 3 31 7t 9ne 9 ¢

[Question ID = 574][Question Description = 52_qSNz_PG_VIS_Q48]

1. Aand B only/@am A#i B [Option ID = 2293]
2. Aand C only/wmr A die C [Option 1D = 2294)
3. Aand Donly/aT A iz O [Option 1D = 2295])
4, Band D only/faeT B stz D [Option 1D = 2296]

Correct Answer :-
@ A and B only/daer A 3 B [Option 1D = 2253]

49) ldentify the names of women art critics and curators. from the following:
A. Mrinalani Mukherjee

B. Gayatri Sinha

C. Naina Dalal

D. Kiran Nadar

Choose the correct answer from the options given below:

forsarfer¥oe 3 A afden wor wallars] g wycd @5 anw wad

A. gnfeet gt

B. st Rieat

C. Rl gowt

D. Rpzvr emsz

i) f8u a1e Rrpoul 9 31 w18t Fne @l o=m ifans :

[Question ID = 575][Question Description = S2_qSNz_PG_VIS_0Q49]

A and B only/dwm A &z B [Option 1D = 2297]

B and C only/axwT B diz C [Option 1D = 2298]
B and D only/e@eer B 4tz D [Option ID = 2299]
C and D only/@ae C sfiz D [Option D = 2300]

ol B
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Correct Answer :-
® A and B only/@ae A & B [Option ID = 2297]

50) Find the name of the books which were written by 0. C. Ganguly.
A. Ragas and Raginis

B. Indian Painting

C. Rajput Painting

D. Indian Miniatures

Choose the correct answer from the options given below:

att, =t stiegcdt e ferfiaa gea! & o aarn :

A. 9911 93 3fereitst

B. $f3erer dfder

€. aerge dicst

D. i3er fifereasd

oft R =g Rrascal A A aft s gl @

[Question ID = 576][Question Description = $2_qSNz_PG_VIS_Q50]

1. A and B only/@ee A s B [Option 1D = 2301]

2. Aand C only/@aa A iz C [Option ID = 2302]
3. Band C only/@ae B 4tz C [Option 1D = 2303]
4. Cand D only/d@Fae C afiz D [Option 1D = 2304]

Correct Answer :-
® A and B only/@aa A sz B [Option 1D = 2301]

51) The following typefaces are serif faces:
A. New Times Roman

B. Helvetica

C. Georgia

D. Gill Sans

Choose the correct answer from the options given below:

ferrafer¥a orva a1 aip-aeres (ART) sa &

A. 59 59 H NS

B. 3caftwr

C. snfdfer

D. Bre diea

ofld on =1 Repedi A A Aft s gl ¢

[Question ID = 577][Question Description = 52_qSNz_PG_VIS_Q51]

1. Aand B only/asm A & B [Option 1D = 2305]
2. Band C only/@ae B 4z C [Option ID = 2306]
3. Aand C only/@ae A iz C [Option ID = 2307]
4. C and D only/a5e C 3fiz D [Option D = 2308]

Carrect Answer :-
& A and B only/aaa A sz B [Option 1D = 2305]

52) The most common length of TV commercials on television are
A, 10 Seconds
B. 15 Seconds
C. 30 Seconds
D. 20 Seconds

Choose the correct answer from the options given below:

eoliferster v fosmas O Falfne e it 8
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A. 10 I=Ds

B. 15 s

C. 30 s

D. 20 IS

oifer o are femseal 3 31 7t 3ne 9o ¢

[Question ID = 578][Question Description = 52_qSNz_PG_VIS_Q52]

. (A) and (B) only /T A sfiz B [Option 1D = 2309]

. (BY and {C) only/=xw B siiz C [Option D = 2310]
. (A} and (C) only/=rT A iz C [Option 1D = 2311]
. (C) and (D) only/=wrT C &= D [Option 1D = 2312]

PR

Correct Answer :-
® (A) and (B) only/@aw A Jfiz B [Option 1D = 2309]

53) Which country does Robert Motherwell belong to?

Yad somm g eor A F7

[Question ID = 579][Question Description = S2_qSNz_PG_VIS_Q53]
1. Germany / s@st

[Option ID = 2313]
2. France f wia

[Option ID = 2314]
3. United 5tates of America / wemsts weg A s@fsot

[Opticn ID = 2315]
4. Britain / /e

[Option ID = 2316]

Correct Answer :-
& Germany / sEit

[Option ID = 2313]

54) The following terms are related to "Print Media"
A. Point of Purchase

B. Magazine

C. Newspaper

D. Commercial

E. Jingle

Choose the correct answer from the options given below:

ferrafeilRaa 3 3 ®ia 3 us "N A" A Aafa & ?

A. ma Kig

B. ufeer

C. IR uq

D. f=simm1

E. Bem

ofl Bn oo Repedi A A Aft s @l ¢

[Question ID = 580][Question Description = $2_qSNz_PG_VIS_Q54]

1. (A) and (B) only/f=wmT A iz B [Option 1D = 2317]
2. (A) and (C) only/=SwmT A diiz C [Option D = 2318]
3. (B) and {C) only/wxmr D 4z E [Option D = 2319]
4. (C)and (E) only/aer B afic D [Option ID = 2320]
Correct Answer :-

® (A) and (B) only/@ae A afiz B [Option 1D = 2317]

55) The painting with the title "The Tribute Money” was painted by
"g Ry selt” ofiftfer am Rig ot Rewet gemar an?
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[Question ID = 581][Question Description = S2_qSNz_PG_VIS_Q55]
1. Fra Angelico / wi dacitmt

[Option ID = 2321]
2. Giorgione / semsitata

[Option ID = 2322]
3. Masaccio / sradéexi

[Option 1D = 2323]
4. Paolo Uchchello / u=at! s=e

[Option ID = 2324]

Correct Answer :-
& Fra Angelico / gf wacdim

[Option ID = 2321]

56) "Hokusai" is famous as:
A. Ukiyo-e writer

B. Ukivo-e painter
C. Ukiyo-e sculptor
D. Ukiyo-e printmaker

Choose the correct answer from the options given below:

ks fogatclian # 21 et su A gling 2

A, 3fepell U cms

B. 3fep=l u dez

C. 3fpel u Pfefoerz

D. 3fdpal © SursR

i 2w s1e faescal 3f 2 78 one gol @

[Question ID = 582][Question Description = S2_qSNz_PG_VIS_Q56]

B and D only /@ B stz O [Option 1D = 2325]
A and C only/@ae A 3z C [Option 1D = 2326]
B and C only/o9e B 4= C [Option 1D = 2327]
C and D only/a@sae C dfiz D [Option D = 2328]

L kad R

Correct Answer ;-
e B and D only /= B &z D [Option 1D = 2325]

57) Who were members of the "Bichitra club" founded in 1915?
A. Abanindranath Tagore

B. Gagnendranath Tagore

C. Rabindranath Tagore

D. Samarendranath Tagore

Choose the correct answer from the options given below:

1915 @ zonfirer "Ry aaa” & Slier wiar AceT A ?

A, araforegoirel stz

B. serciogatrel eallz

C. dilogarrer ¢ons

D. wwegome Sz

ofta R e Rscal A A aft s gdi @

[Question ID = 583][Question Description = S2_qSNz_PG_VIS_Q57]

1. A, Band C only/dsam A, B 3z € [Option ID = 2329]
2. A, Band D only/dae A, B 3z D [Option ID = 2330]
3. B, Cand D only/daa B, € afis D [Option ID = 2331]
4. A, C and D only/@ae A, C 3 D [Option ID = 2332]

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 2329]
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58) Identify the printmakers from the following :
A, R, M, Palaniappan
B. Dharmnarayan Das Gupta
C. Debraj Dakoji
D. Jeram Patel
E. Rini Dhumal

Choose the correct answer from the options given below:
formifertian 3f 21 BUGArGE Usdme! ;

A, . oa, Odleitanua
B. i SIzrRIvT g ST
C. ZazreT srekel

D. Ser aeer

E. foit ¢t
ofia 2w s1e faescal 3f 21 78 ne 9ol ©

[Question ID = 584][Question Description = S2_qSNz_PG_VIS_Q58]
1. A,CandEonly/grmm A, Caiz E

[Opticn ID = 2333]
2. A,B,CandEonly/@a A, B, CAR E

[Option ID = 2334)
3. B, C,DandEonly/dwrr B, C, Dz E

[Option ID = 2335]
4, A, Band D only/dmet A, B sz D

[Option ID = 2336]

Correct Answer :-
o A CandEonly/s@am A, Cafis E

[Option ID = 2333]

59) Identify the tools used in etching:
A, Scraper

B. Rocker

C. Burnisher

D. Needle

E. Levigator

Choose the correct answer from the options given below;

Glier 3 Qs Eorarcy aitsnz

A, DUz

B, Jidz

C. aoltaz

D. g#

E. oriieies

i 2w a1 faascal 3f 2 718 oae gol @

[Question ID = 585][Question Description = S2_qSNz_PG_VIS_Q59]

A, B and C only /e A, B 3tz C [Option ID = 2337]
A, C and E only /e A, € 30z E [Option ID = 2338]
A, D and E only /e A, D 30z E [Option ID = 2339]
A, Cand D only/osae A, C &z D [Option ID = 2340]

T

Correct Answer ;-
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& A, BandConly/gam A, B 3fiz C [Option ID = 2337]

60) Which technique was used by Rembrandt in printmaking?
A. Serigraphy

B. Lithography
C. Drypoint
D. Etching
E. Chine Colle

Choose the correct answer from the options given below:

Yaqi & et Rie Menar df blot ol Aol sedae gd
A, ienbt

B. cfteitoqmt

C. spwse

D. uifier

E. Brot @it

olfer 76w s1e famseal 3 2 F Fre & aae DHifae ¢

[Question ID = 586][Question Description = S2_qSNz_PG_VIS_Q60]

1. Band E only/wam B iz E [Option ID = 2341]
2. Aand D only/7ae A die U [Option 1D = 2342]
3. Cand D only/swe C #iz D [Option 1D = 2343]
4, A, B and E only/<mm A, B siiz E [Option 1D = 2344]

Correct Answer ;-
# B and E only/«smm B Az E [Option 1D = 2341]

61) Choose the artists who used to work in mixed media.
A. B. C. Sanyal

B. Pritpal Singh Ladi

C. Sushen Ghosh

D. Anita Dube

Choose the correct answer from the options given below:

fofda ez 3 HRf S0l ardl HensRl &1 aIs HIfaw ;

A, 4t 3. zeEa

B. dia ura 3 endt

C. 7ol 2

D. aférar g

oirar faw a1 faascal 3 2t 7l anz o1 aga B @

[Question ID = 587][Question Description = $2_qSNz_PG_VIS_Q61]

1. Aand B enly/@am Az B [Option ID = 2345]

2. Band C only/@aa B 4tz C [Option 1D = 2346]
3. Band D only/@ae B &tz D [Option 1D = 2347]
4, Cand D only/www C 4z D [Option [D = 2348]

Correct Answer :-
® A and B only/wae A & B [Opticn ID = 2345]

62) Sculptures created by Keneth Armitage are
A. The Patriot

B. Delphine

C. Slab Figure

D. Walking Group

Choose the correct answer from the options given below:
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dvoler snfifes mrar gong we PRI forea §

A. 5 aRtamc

B. 3vdiar

C. &g e

D. afdver spa

il R o1e Rraseal 3 A 78 30 o awer Hifewe :

[Question ID = 588][Question Description = S2_qSNz_PG_VIS_Qé62]

A and B only/@aem A 3y B [Option ID = 2349]
C and D only/ame C iz D [Qption |D = 2350]
A and C only/dae A &tz C [Option ID = 2351]
B and D only /e B stz O [Option 1D = 2352]

N S PP

Correct Answer :-
o Aand B only/@aa A sz B [Option 1D = 2349]

63) Pneumatic tools are used for

A. Reducing the physical labour

B. Reducing substantially the time required
C. Save the materials

D. Enhancing manual skill

Choose the correct answer from the options given below;
arfere Jaduil o YR fisar & g fsar srar 2 7

A, omdifye opr @I acwT T B forw

B, amaesrs 3 # iy ol ool o fére

C. 7IRf aaw & foo

D. merit wiera & gy @ R

ofly R s1g Rraseal 9 A =& 377 wr awar Hifere :

[Question ID = 589][Question Description = S2_qSNz_PG_VIS_Qé63]
1. Aand B only/drsma A3z B

[Opticn ID = 2353]
2. Band C only/@ac B 4tz C

[Option ID = 2354]
3. BandDonly/em Bz D

[Opticn ID = 2355]
4. Cand D only/omae C afiz D

[Option ID = 2356]

Correct Answer :-
o AandBonly/drm AdR B

[Option ID = 2353]

64) Choose from the following sculptors those who work in stone :
A. Rajat Ghosh

B. Latika Katt

C. Nagji Patel

D. Balan Nambiar

Choose the correct answer from the options given below:
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are? 3 wrl oy wa Jfe Rreawrt B ogae Hif
A. ¥31 Oy

B. affror wz

C. arEElt ita

D. =mcia wiifenz

ol fou s1e faepedl 3 3 A8 F0e @1 aus difene ©

[Question ID = 590][Question Description = S2_qSNz_PG_VIS_Q64]
1. Aand Bonly/@ma A3 B

[Option ID = 2357]
2. Band C only/@ae B 4z C

[Option ID = 2358]
3. BandDonly/sa= B = D

[Option ID = 2359]
4, Cand D only/@we C iz D

[Option ID = 2360]
Correct Answer ;-
o AandBonly/drer AR B
[Option ID = 2357]

65) Lorenzo Ghiberti was an Ralian
A. Print maker

B. Sculptor
C. Film maker
D. Architect

Choose the correct answer from the options given below:

aria fBradf o st

A, amrs: &

B. 3 forca®z

C. fisca fomatar &

D. wrirgerir &

offay e =1 Rraseal A A 78 307 w1 awa Hite @

[Question ID = 591][Question Description = S2_qSNz_PG_VIS_Q65]

A and B only/&am A iz B [Option 1D = 2361]
A and C only/dae A &tz C [Option ID = 2362]
B and D only /@ B stz O [Option 1D = 2363]
B and C only /@ B stz C [Option 1D = 2364]

oW R

Correct Answer :-
e A and B only/@ae A &2 B [Option ID = 2361]

66) Match List | with List [l

List | List Il
A.Portraits of Gudea |. Rome

B. Arch of Constantine Il. Japan

C. Ziggurat lll. Mesopotamia
D. Haniwa V. Sumeria

Choose the correct answer from the options given below:

IRt -1 @ et -1l 3 dRm b

et -| ot -l
A. drfcw aliw i I. 3@

B. ard 3ifw wivdRa 1. smrums

C. Rrpe 1. Frivdverfien
D. woftar Iv. sk
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aitar v oo frwseal 3 1 A saw gfee ¢

[Question ID = 592][Question Description = S2_qSNz_PG_VIS_Q66]

1. A-I¥, B -, C-Ill, D -ll [Option ID = 2365]
2. A-IV,B-lll, C-Il, D-l[Option ID = 2366]
3. A-ll,B-IV, C-lll, D -l [Option ID = 2367]
4. A-l,B-ll,C-lil, D-IV [Option ID = 2368]

Correct Answer :-
e A-IY,B-l,C-Ill, D -ll [Option ID = 2365]

67) Match List | with List [l

List | lList 1

A. Auguste Renoir |I. Glass of Absinthe

B. Edgar Degas |II. Little Dancer of 14 years
C. Picasso |III. Standing Venus

D. Umberto Boccioni |IV. Unique form of continuity in space|
Choose the correct answer from the options given below;

IRt -1 @ et -1l 3 dRm b

it - et -l

A, MeTEe Yol |, s afies Bfesier

B. user JoTR I, RiRer stz aifw 14 St

C. foror=it . F¥for Aot 71

D. seadl SRR IV, it Wt ative BRI sa1 T

ofta v =1 frwseal & 7 =8 saz gforw

[Question ID = 593][Question Description = $2_qSNz_PG_VIS_Q67]

-1, B -1, C-Il, D-IV [Option ID = 2369]
-l, B -, C-Il, D-IV [Option ID = 2370]
-, B-Il, C-l, D-IV [Option ID = 2371]
¥, B-Il, C-1,D-lll [Option ID = 2372]

Correct Answer :-
e A-ll,B-I,C-Il,D-IV[Option ID = 2369]

68) Match List | with List [l

List | lList 1

Painting Artist

A. Goverdhan [l. Jatin Das

B. Pabuji Rathore |II. Manjit Bawa

C. Surya Namskar |III. Kripal Singh Shekhawat
D. Himalaya lIv. Nikolas Roric

Choose the correct answer from the options given below:

et -1 ot et <11 3 it i

et -| Syt -1

(tiféaam) (D)

A. wiiehor I. sifrerer

B. urgsil wdis I, sisiiar

C. ¥t o 1. worer Biw I
D. fRwer Iv. forrerar Afves

a1k fon oo Repedl & 31 w18t o= giene :

[Question ID = 594][Question Description = 52_qSNz_PG_VIS_Q68]

A-ll,B-l,C-IV, D -l [Option D = 2373]
A-ll, B-Ill, C-l,D-I¥[Option ID = 2374]
¥, B-ll, C-lll, D -l [Option ID = 2375]

1,
2.
3.
4. A-l,B-ll, C-Il, D-IV [Option D = 2376]

A
A
Carrect Answer :-

o A-ll,B-l,C-IV,D-ll [Option ID = 2373]

69) Match List | with List Il

List | List I
|Fai ntings Years
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A, Sati |. 1870 AD

B. Bharat Mata Il. 1905 AD
C. Shakuntala I1l. 1940 AD
D. Last Supper V. 1943 AD

Choose the correct answer from the options given below:

et -1 Bt et -1l 3 s i

axeht -l yedt -lI
(tife=am) ()

A, wxelt l. 1870 £
B. sirza HAwN 11, 1905 £.q,
C. 9rpoaa ll. 1940 ..
D. e 3u3 1V, 1943 €0,

o) o o1e Riwedt 3 3 71t 3% b :

[Question ID = 595][Question Description = 52_qSNz_PG_VIS_Q69]

1, A-IV,B-ll, C-l,D-lll [Option ID = 2377]
2. A-ll,B-IV,C-1,D -l [Option ID = 2378]
3, A-l1,B-lI,C-ll, D-IV [Option ID = 2379]
4. A-ll,B-l,C-I¥, D -l [Option ID = 2380]

Carrect Answer :-

o A-IV,B-ll,C-l,D -l [Option ID = 2377]

70) Match List | with List [l

List | lList 1

A. Frankmason Robinson |I. 'Coco-Cola’ logo

B. Henri Kay Henrion |II. 'KLM airlines' logo

C. Paula Scher . "Citi’ logo

D. Sagi Haviv |IV. '‘Library of Congress' logo

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 @R AR

et - et -

A. SoAzeratisas |. ‘kpr wien’ csi

B. Zordt @ ol Il." & odl v GareEA’ dsl
C. dicn 9% Il 'R’ et

D. weil sda IV, * oyt aiie o el

a1k fon oo Repedl & 31 w18t o= giene :

[Question ID = 596][Question Description = 52_qSNz_PG_VIS_Q70]

1, A-l,B-Il, C-lll, D-IV [Option ID = 2381]
2. A-ll,B-ll,C-IV, D -l [Option ID = 2382]
3, A-Il,B-lv,C-I, DIl [Option ID = 2383]
4. A-IV,B-l,C-Il, D -lll [Option D = 2384]

Carrect Answer :-

o A-l,B-Il,C-lil, D-IV [Option D = 2381]

71) Match List | with List [l

List | lList 1

A, Old spice  |i. vishwas Kare

B. ICICI Bank

Il. Khayal Aapka

C. Lux Cozi

|III. Apne Luck Pehen ke Chalo

D. Kinley

Iv. Smell Fantastic

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 @R AR

aredt - axedt -1l

A, siles Farsa |. Rreare w3

B. ang =i and 3ft anf H 11, Frame Ut

C. ood wish Il 3 ofp uss o Tl
D. fasear IV, 9id Gaiclics

oA R a1 famedl A A 28l e g :
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[Question ID = 597][Question Description = S2_qSNz_PG_VIS_Q71]

1. A-l,B-Il, C-lll, D-IV [Option ID = 2385]
2. A-ll,B-Il, C-IV, D-l[Option ID = 2386]
3. A-ll,B-Il, C-l,D-IV[Option ID = 2387]
4. A-IV,B-Il, C-lll, D-l[Option ID = 2388]

Correct Answer :-

e A-l,B-Il,C-lll,D-IV [Option ID = 2385]

72) Match List | with List [l

List | List I

A, Levigator

I. Relief Printing

B. Potassium Dichromat ]II. Etchin

g

C. Soft ground

lll. Lithograph

D. Brayer ]IV. Scree

n printing

Choose the correct answer from the options given below:

I -1 B 3t -1l A gAfera Hifw

aredt - | apedt -1l

A. dREIcT |. Biftne fKjfder

B. drfdrm sEmidic 11, wfeist

C. dire spavs 1. PBremgee (Releps)
D. graz V. zaflar fiifésr

of fon a1e famseal & 21 w1dt Fa= gione ¢

[Question ID = 598][Question Description = 52_qSNz_PG_VIS_Q72]

A-ll,B-1, C-Iv¥,D-l[Option ID =
A-ll,B-IV,C-Nl,D-l[Option D =

HE NPT o gy

A-lll,B-N,C-IV,D-l[Option ID =
Correct Answer :-
a A-ll,B-IIl,C-I¥,D-l[Option ID =

2389]
2390]

A-lll, B-IV, C-l, D -l [Option ID = 2391]

prepp
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2392]

2389]

73) Match List | with List [l

List | List |l

A, Fairy tales of Purba Palli |I. Raja Ravi Varma

B. Birth of White Rose Il. Anupam Sud

C. Shakuntala Patralekhan [Ill, K, G, Subramanyam

D, Autumn IV. Somnath Hore

Choose the correct answer from the options given below:

TRt -1 @ et -1l 9 AR Hifw

et -| el -l
A, ©edl 2ew JI® grar ueedl [|. v 3fa axt

B. el aiiw e 3= |Il.alquangg:

C. orgren aqizt 1. @. o, BgEwoam
D. amcar IV. ziveremer @

offa v =1 frweal & I =8 saz gferw :

[Question ID = 599][Question Description = 52_qSNz_PG_VIS_Q73]

1. A-I¥Y ,B-Il,C-1,D-

[Option ID = 2393]
2. A-ll,B-ll,C-l,D-I¥

[Option ID = 2394]
3. A-IV,B-II,C-1,D-I

[Option ID = 2395]
4. A-Il,B-IV,C-l,D-

[Option ID = 2396]

Correct Answer ;-
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 A-IV,B-Il,C-1,D-N

[Option ID = 2393]
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74) Match List | with List [l

List |

List I

A. Subodh Gupta

‘I. Maiya as an Arrow

B. Sudarshan Shetty

Il. Sky Mirror

C. K. §. Radhakrishnan

lll. Flying Bus

D. Anish Kapoor

]IV. Geheri need

Choose the correct answer from the options given below;

it -1 B 3t -1l 3 AR iR

et -| et -l

A. reer g Il s st oo ¥
B. ool I, zorf oz

C. . o, JLRFSI 1. wemrser a2
D. swfter oz |IV.6"13flaﬂrs'

o1 o ot fameddl A A 28l w0 g :

[Question ID = 600][Question Description = $2_qSNz_PG_VIS_Q74]

ol B

Carrect Answer :-

A-ll,B-IV,C-Nl, D -l [Option D = 2397]
A-l,B-ll,C-IV, D -l [Option ID = 2398]
A-IY,B-lll, C-l,D-Il [Option ID = 2399]
A-lll,B-l,C-ll,D-IV[Option ID = 2400]

e A-ll,B-IV,C-lll,D-l[Option ID = 2397]

75) Match List | with List [l

List | List Il

A.Flux . Metamorphic rock
B. Eboxy Il. Igneous rock

C. Basalt I1l. Promoting Fusion
D. Lapis Lazuli [IV. Variety of wood

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ghfea i

el -| et -1l

A. T [|. DT dic
B. ammaaw 1. sweorer drer

C. Yuwe 11, Fiercrer waefor
D. siter 301 w1 ey (iR digend) Iv. wrss @ Rvew

i v s1e faseal i 31 wdt Iw giew

[Question ID = 601][Question Description = $2_qSNz_PG_VIS_Q75]

1. A-ll,B-l, C-lll, D-I¥ [Option ID = 2401]
2. A-lll,B-IV,C-Il,D-l[Option ID = 2402]
3. A-l1,B-Il,C-IV, D-Il [Option ID = 2403]
4, A-IV,B-Il,C-l,D-lll [Option ID = 2404]

Correct Answer -

o A-ll,B-l,C-lll, D-IV [Option ID = 2401]

76) Arrange the following Buddhist sites according to their location from North to South.

A. Amaravati
B. Sanghol
C. Harvan

D. Sanchi

Choose the correct answer from the options given below

Faz H oidmwr [Son 3 g Fercil ®1 JoRD Tl @ R oI D

A, seeracd
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B, wsia
C. srat
D. it
oicy few s1e famscul 3 31 Al 3ne @1 aga $ifaw @

[Question ID = 602][Question Description = 52_qSNz_PG_VIS_Q76]
FiukoBoCoD

[Option ID = 2405]
2, B,C, A D

[Option ID = 2406]
3. C,B, D, A

[Option ID = 2407]
4, D,B, C, A

[Option ID = 2408]
Correct Answer :-
e A B CD
[Option ID = 2405]

77) In Indo-Islamic Architecture portals are considered important monuments, Arrange the following portals (Darwaza) in
chronological order
A. Rumi Darwaza

B. Buland Darwaza
C. Dakhil Darwaza
D. Alai Darwaza

Choose the correct answer from the options given below

HIZART - 3Tl aRGIYCU # crell © Aerayyl IHRD Al Il & DIIDA AR AR
A, wiil graen

B. geic camsn

C. zif¥act geamsn

D. aretr$ gearsn

oiial few s1e famscul 3 31 Al 3nz @1 aua il @

[Question ID = 603][Question Description = 52_qSNz_PG_VIS_Q77]

1. A, B, C, D [Option ID = 2409]
2. B, C, A, D [Option ID = 2410]
3. C, B, D, A[Option ID = 2411]
4, D,C, B

» €, B, A[Option ID = 2412]

Correct Answer :-
e A, B, C, D [Option 1D = 2409]

78) Select the correct chronological sequence of the artists.
A. Jackson Pollock

B. Willem de Kooning

C. Mark Rothko

D. Robert Morris

Choose the correct answer from the options given below

forrmifertian IR ®f JEl DITGIHIGRIRE ey |
A, Stawer Uids

B. faférasn © ofoist

C. I el

D. zraé sfys

oflal 12w a1v faascal 3 31 7 T @1 ool e ©
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[Question ID = 604][Question Description = 52_qS5Nz_PG_VIS_Q78]

B, A, D, C [Option ID = 2413]
C, B, A, D [Option ID = 2414]
C, A, B, D [Option ID = 2415]
A, B, D, C [Option ID = 2416]

N " PP Y

Correct Answer ;-
e B, A, D, C [Option ID = 2413]

79) Select the correct chronological sequence of the Artists:
A. K. G, Subramanyam

B. Chitto Prasad

C. A, R. Chugtai

D. Somnath Hore

E. J. Swaminathan

Choose the correct answer from the options given below

ferratertiaa ot @ 78 werasn o wria BifEo @

A. @, St FgravaHa

B. g

C. v, . PoEe

D. ArAaner &R

E. 51 e

il R 1w Rroseal 3 A 18 30 w1 awer S :

[Question ID = 605][Question Description = $2_qSNz_PG_VIS_Q79]

1. A, B, C, E, D [Option ID = 2417]
2. B, C, D, A, E [Option ID = 2418]
3. C, B, A, D [Option ID = 2419]
4. E, B, A, C,

, B, A, D [Option D = 2420]
Correct Answer :-
e A B, C, E, D[Cption D = 2417]

80) Choose in descending order the most successful animated films ever made in terms of collection made by them:
A, Zootopia

B. Incredibles II

C. Minions

D. Frozen I

E. The Secret Life of Pets

Choose the correct answer from the options given below

forrmfertian it Awa FHEila (elerdies) ool Dl Ioid HeRlol @ Io[HIR Jokkbl WGl & a2l oA i cPns

A, AR
B. semizaeall

C. BiforiA

D. g

E. 5 Htacass e ton

il R s1g Rraseal 3 A =78 37w wr axar Hifore :

[Question ID = 606][Question Description = $2_qSNz_PG_VIS_Q80]
1. A, B, C,D,E

[Option ID = 2421]
2. A, C,ED,B
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[Option ID = 2422]
3. B,A,D,EC

[Option ID = 2423]
4. D,B,C, A E

[Option ID = 2424]

Carrect Answer :-
« A B CD,E

[Dptmn ID = 2421]

81) Arrange the leading brand across India in terms of weekly ad insertions:
A. Dettol antiseptic liquid

B. Surf Excel easy wash

C. Colgate Dental Cream

D. Kia Sonet

E. Clinic Plus Shampoo

Choose the correct answer from the options given below

Bralifiaa sepufl gist Y JR sea & Jord Rieusll & A el & TAGRNT a9y ;
A, o dienes fofdas

B. 7w gurara geilangr

€. wieeIc Sca ajis

D. & Hioie

E. aciifrrs caa divg,

oiier fu s1e Rrpeal A @ A8 307 o1 aua FHifow ©

[Question ID = 607][Question Description = S2_qSNz_PG_VIS_Q81]

1. A, B, E, C, D [Option ID = 2425]
2. A, E, C, B, D [Option D = 2426]
3. A, D, B, E, C [Option D = 2427]
4. A, C,B D,E[Optmn ID = 2423]

H

Correct Answer -
e A B, E, C, D[Option ID = 2425]

82) Choose the correct chronological order of printmaker:
A. Toulouse Lautrec

B. Emil Nolde
C. Erich Heckel
D. Edvard Munch

Choose the correct answer from the options given below

BT WHERPR] Wl TNTHEAGIALR Ta6 W ©

A. ggH g

B. ufdre siles

C. ubkw Zda

D. wsas 7w

ol 8u a1e fRrpeal 3 31 w18t 30w w1 oam Rplans :

[Question ID = 608][Question Description = $2_qSNz_PG_VIS_0Q82]

1. D, B, A, C [Option ID = 2429]
2. D, A, B, C [Option ID = 2430]
3. D, B, C, A[Option ID = 2431]
4. D, A, C, B [Option ID = 2432]

¥

¥ H

Carrect Answer :-
o [0 B, A, C[Option ID = 2429]

83) The correct sequence of the screen printing process;
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A, Prepared the screen
B. Design prepared

C. Emulsion applied

D. Exposed through light

Choose the correct answer from the options given below

Failer foftor o wEt arggag -

A. Faftor dee wean

B. Remser e wen

C. socHet a6

D. goorer @ F13r saHglA w6l

oiier fu s1e Rrpeal A @ A8 307 o1 aua FHifow ©

[Question ID = 609][Question Description = S2_qSNz_PG_VIS_Q83]

1. B, C, A, D [Option ID = 2433]
2. A, B, D, C [Option ID = 2434]
3. B, A, C, D [Option ID = 2435]
4. A, C, B, D [Option ID = 2436]
Correct Answer ;-
e B, C, A, D [Option ID = 2433]

84) Select the correct sequence of stones from softer to harder,
A, Lime Stone

B. Sand 5tone

C. Granite Stone

D. Soap Stone

Choose the correct answer from the options given below

ferrafeiioeT urerRl ! ola 3 WOk © #E wA 3 ey

A. ot urez

B. aqiam urez

C. sjaEe uete

D. #Hlu ureR

ol 8u a1e fRrpoul 3 31 w18t 30w @l oam ifans

[Question ID = 610][Question Description = $2_qSNz_PG_VIS_Q84]

1. D, A, B, € [Option ID = 2437)
2. A, B, C, D [Option ID = 2438]
3. B, C, D, A [Option ID = 2439]
4. C, D, A, B [Option ID = 2440]

Carrect Answer :-
& D, A, B, C [Option ID = 2437]

85) Select the correct sequence in escalating order of resistance to corrosion,
A. Tin

B. Copper
C. lron
D. Aluminium

Choose the correct answer from the options given below

forraifartiaa @ Hemeor (®Reer) giedie & aed on d a9nd ;
A, &=
B. Aoy (=iaz)
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C. dis
D. wegidforma
a1 12w =g fnpoal & 3 A8 3 @1 o il

[Question ID = 611][Question Description = S2_qSNz_PG_VIS_Q85]

B, C, A, D [Option ID = 2441]
D, B, C, A [Option ID = 2442]
C, A, D, B [Option ID = 2443]
A, D, B, C [Option 1D = 2444]

T e

Correct Answer :-
e B, C, A, D [Option ID = 2441]

86) Given below are two statements
Statement I Gustave Courbet said, "Painting is essentially a concrete art and must be applied to real and existing things".

Statement Il: He was against the scenes from traditional history, mythology and religion. He was thus a man of ground
reality.

In light of the above statements, choose the correct answer from the options given below

oifl o were Ru smw 3 ¢

e - | saiFam W of wal Ko Rigepen eneluse gkil anf?d Jiiz Brwot Hien spm aralis usied 31 gon @fe
werel - |l @ & gvoeer UvelRne, Brecbl siiz enfldke ol @ akpal @ [y & 3eg A Gumdarct a

IRITE el @ el #, ik [§u se RKoodl 3 A w1l anz @1 wE bl @

[Question ID = 612][Question Description = $2_qSNz_PG_VIS_Q86]
1. Both Statement | and Statement || are true/wemE | &tz | SEt 7 &

[Option ID = 2445]
2. Both Statement | and Statement [l are false/wer | & 1| Sl spwer &

[Optian ID = 2446]
3. Statement [ is true but Statement Il is false/wemr | 30 £ |, Foag e [ s £

[Option ID = 2447)
4. Statement | is false but Statement Il is true/=em | s &, fveg e || g 8

[Option ID = 2448]
Correct Answer ;-
e« Both Statement | and Statement |l are true/mvem | d= 1l Saif @ 2

[Option ID = 2445]

87) Given below are two statements
Statement I: Rabindranath Tagore painted mostly self-portraits in the last phase of his life.
Statement |l: He was never inspired by Freudian Psychoanalytical theories.

In light of the above statements, choose the most appropriate answer from the options given below
oflar €1 weae Re sie 3 ;

et - | 1 wiogame $a0F o sl siiaa @ sifdr asm 3 affrsae To= © sulng a=e
werd - |l @ 3 oot ot prasart s RBigial 3 gfs odf gu
FRITE U] @O ACRD A, Jil 7 91 koedl # 31 31t = @1 = i

[Question ID = 613][Question Description = 52_qSNz_PG_VIS_Q87]

1. Both Statement | and Statement [l are correct/mem | dz || Siel wra &

[Option ID = 2449]
2. Both Statement | and Statement [l are incorrect/owam | &3 1 39 amm= &

[Option ID = 2450]
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| 3. Statement | is correct but Statement Il is incorrect/asem | 3 2, Reeg o || s 8

[Option ID = 2451]
4, Statement | is incorrect but Statement Il is correct/wem | s £, freg oem || w1 &

[Option ID = 2452]

Carrect Answer :-
# Both Statement | and S5tatement |l are correct /forem | Sz || S 3 &

[Option ID = 244%]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Typography is important in communication design.

Reason R : Typography is the visual representation of the written word, It reinforces the meaning of text and makes it more
clear and legible,

In light of the above statements, choose the correct answer from the options given below

ofta €t werer Ru 1w B 1 wes Afdrweor (Assertion A) @ = # 3y garer 3@ vt (Reason R) d wa & :

sffreperot (A) @ sduer sftrrvea 3 ersa Ren ascagef 3

ot (R) : arsa Ren fifaa ome &t g (Rrspaa) gzafr 3 s ao & e o 7z wxh § iz 731 sftre woaee sz goshta gonred 3
I WA @ sreia #, i Re a1 Rovedl & A wél saz o e G ¢

[Question ID = 614][Question Description = $2_qSNz_PG_VIS_Q88]
1. Both A and R are true and R is the correct explanation of A/(A) iz (R) St =2 £ sz (R), (A) o5t =t =om=n 2

[Option ID = 2453]
2. Both A and R are true but R is MOT the correct explanation of A/(A) iz (R) g6l gt & weag (R), (A) &t 3 semn w2

[Option ID = 2454]
3. Ads true but R is false/ (A) =8t 3w (R) st =it 2

[Option 1D = 2455]
4. Ais false but R is true/(A) st o & ooy (R) ot

[Option ID = 2456]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3z (R) =it =t 2 3z (R), (A) & ot =ne=n &

[Option ID = 2453]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Raja Ravi Yarma is an eminent painter and printmaker in the history of Indian Art.
Reason R: He was notable for making affordable oleographs and lithographs of his paintings.

In light of the above statements, choose the most appropriate answer from the options given below

i <) weel R s & ;. ues aifdrsere (Assertion A) @ wu 3 3iiz gorer 35@ @reor (Reason R) S =a 3 ©

atfirserer (A) ; zen I aaf snwdkr oor & sfeer 3 oo des Rk iz o 3

1201 (R) : A arUcht SARGRR DY A1 SIol Y U TAT & R st RigE B AMRRipE s Riehee e & Rie giing &
WD DUl D Aehd H, oiy dw 71e faepedl # A 38t 31 @I RIol S

[Question ID = 615][Question Description = 52_qSNz_PG_VIS_Q89]

Both A and R are correct and R is the correct explanation of A/(A) 3fiz (R) 351 =8 & afiz (R), (A) &t =& =oe=n & [Option 1D = 2457]

Both A and R are correct but R is NOT the carrect explanation of A/(A) 4z (R) Sielt andt & wweyg (R), (A) &1 75t s ot € [Option ID = 2458]
A is correct but R is not correct/({A) =it & uzeg (R) =idt =t & [Option 1D = 2459]

A is not correct but R is correct/(A) =8 =2 & wag (R) =2t & [Option ID = 2460]

T

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sz (R) Sel = & iz (R), (A) &t = oo & [Option ID = 2457)

90) Given below are two statements
Statement I: Ram Kinkar's sculpture is characterized by tremendous energy, exuberance and vitality,

Statement ll;: Because he was saturated with an intense love for life.
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In light of the above statements, choose the correct answer from the options given below

i 1 ool R o1w 3

weet - | 1 P @ P drea &t Rifdrsear B sirafre wal, gaear a sftasaar
werot - || @ a=iifds & shaa @ gfer srser 9 A wga &

IS WS O e #, F Re a1 Rovedl # A wdt saz o wra $ife ¢

[Question ID = 616][Question Description = S2_qSNz_PG_VIS_Q90]

Both Statement | and Statement || are true /=@ | iz || Smi =8 £ [Option 1D = 2461]

Both 5tatement | and Statement |l are false/@erm | iz || dell siew & [Option ID = 2462]
Statement | is true but Statement |l is false/wuet | wra & , &oeg et || s & [Option 1D = 2463]
Statement | is false but Statement Il is true/wue | swra 2 , Breg @ua || 36 8 [Option 1D = 2464]

oW R

Correct Answer :-
# Both Statement | and Statement |l are true/mem | d= || S=t =24 & [Option ID = 2461]

Topic:- VisualArt_ SHAAN_NOVZ1B

1) Study the given image and answer the questions that follow

A T o R Y eaerdes & 3 3w av s weat & s i

What is this work of Art?

G RN DR & 7

[Question ID = 617][Question Description = 52_qSNz_PG_VIS_Q91]
1. Drawing/sEsr

[Option ID = 2465]
2. Painting/dféer

[Option ID = 2466]
3. Etching/dRm

[Option ID = 2467]
4, Poster/dzez

[Option ID = 2468]
Correct Answer :-
e Drawing/sEw
[Option ID = 2465]

2) Study the given image and answer the questions that follow
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A T o R eaerqde & S 3w o s wea & IR &t

Name the artist of the art work given?
2w 7FI @wenm @ wenoR ©id & 7

[Question ID = 618][Question Description = 52_qSNz_PG_VIS_Q92]
1. Jules Cheret/sraa¥x

[Option ID = 246%]
2. Henri de Toulouse Lautrec/Zrl & celist aiide

[Option ID = 2470]
3. Henri Rousseau/ord =1

[Option ID = 2471]
4. Georges Seurat/mnfoiE Jawe

[Option ID = 2472]
| Correct Answer :-
e Jules Cheret/sradie
[Option ID = 2469]

3) Study the given image and answer the questions that follow

A1 T orv R ) taerqde & S 3w av s wea & IR &t

In which medium was it created first?
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s TG et ameera o yiom gam an ?

[Question ID = 619][Question Description = $2_qSNz_PG_VIS_Q93]
1. Flexography/ weradEmit

[Option ID = 2473]
2. Color Lithography /e Felene

[Option ID = 2474)]
3. 4- Color Offset/4 oz sivae

[Option ID = 2475]
4. Gravure /s

[Option ID = 2476]
Correct Answer ;-
& Flexography/ wrrderdt
[Option ID = 2473]

4) Study the given image and answer the questions that follow

A1 T e e eaerqde & A 3w o amenRe wea & IR &t

Who is "Jane Avril", mentioned in the ‘readline' text of the image

i @ oftd urs 3f sealaa 'S yalye T £ ?

[Question ID = 620][Question Description = $2_qSNz_PG_VIS_Q94]
1. A cabaret singer/«ws sufrm

[Option ID = 2477]
2. A cancan dancer/darga mcidt

[Option ID = 2478)
3. A painter/RmeE

[Option ID = 2479]
4. An actress of Hollywood/oeis afisdt

[Option ID = 2480]

Carrect Answer :-

& A cabaret singer/d=3 snffem
[Option ID = 2477]

5) Study the given image and answer the questions that follow
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A1 T oI R Y eaeds & 3 3w av s weat & e e

Which movement of art did the artist belong to?

& HCIDR el b b Jicicel I Feag o1 ?

[Question ID = 621][Question Description = 52_qSNz_PG_VIS_Q95]
1. La Belle Epoque/zm 36 viims

[Option ID = 2481]
2. Post-Impressionist/srz gwraas

[Opticn ID = 2482]
3. Abstract Expressionism/ ! sifiretsorams

[Option ID = 2483)
4, Meo-Realism /o emelns

[Opticn ID = 2484]
Correct Answer :-
® |a Belle Epoque/zn 36 viim
[Option ID = 2481]

Topic:- VisualArt_SHAAN_NOV21C

1) Study the given image and answer the questions that follow

i aw srfRE  taads 3T st 3w W sreRe wat & s e
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Name the title of the sculpture
Afet forea w1 ofides gand ©

[Question ID = 622][Question Description = S2_qSNz_PG_VIS_Q96]
1. Santhal Family/sem afsxnz

[Opticn ID = 2485]
2. Golden Crop/=ic=a T

[Option 1D = 2486]
3. Harvestor/spidsz

[Option ID = 2487]
4. Sujata/zpEmo

[Option ID = 2488)

Correct Answer :-
a Santhal Family/Sser of¥os

[Option ID = 2485]

2)  Study the given image and answer the questions that follow

i e srfRE t tamgds 3T st 3w w araRe mat $ s o

Who is the sculptor?

ARfeR 1 A aag

[Question ID = 623][Question Description = 52_qSNz_PG_VIS_Q97]
1. Pradesh Dasgupta/ygiy grasgar

[Option ID = 2489]
2. Sharbari Roy Chowdhary/m=# et

[Option ID = 2490]
3. Ajit Chakraborty/smia road

[Option ID = 2491]
4, Ram Kinkar Baij/zmiires &=

[Option ID = 2492]

® Pradesh Dasgupta/ys SR
[Option ID = 248%]

3) Study the given image and answer the questions that follow

i e srfRE t tamgds 3T st 3w w araRe mat $ s o
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Which academic Institution did the artist belong to:
waRpR oA sroghine dAveme 3 Hdfteg on ?

[Question ID = 624][Question Description = $2_qSNz_PG_VIS_Q98]
1. Kala Bhavan, Visva Bharati University /e s, fra smdl Rrafenmoa

[Option ID = 2493)
2. M. S. University, Baroda/w, v gitaiiid, agiar

[Option ID = 2494]
3. Govt. College of Art and Craft, Calcutta/sreiic o= 3w a0F s T Terom

[Option ID = 2495]
4. Banaras Hindu University/wea faeg fraftemesr

[Option ID = 2496]

Correct Answer ;-
® Kala Bhavan, Visva Bharati University/wen swm, Rra st Frafiemer

[Option ID = 2493]

4) Study the given image and answer the questions that follow

i e srfRE t tamads 3R st 3w @ sreRe mat & s o

Name the film director who documented the sculptor's personality and works of art
A few Brdores w1 snw ware Rrrst gfel Rredt @ waftre o worglRrdl ov fsea gond :

[Question ID = 625][Question Description = $2_qSNz_PG_VIS_Q99]
1. Buddhadev Dasgupta/gsoa s

[Option ID = 2497]
2. Tapan Sinha/aue Bwear

[Option ID = 2498]
3. Ritwik Ghatak/=fwr o

prepp
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4,

[Opticn ID = 2499]
Satyajit Ray/a=mita ¥

[Option 1D = 2500]

Correct Answer :-

& Buddhadev Dasgupta/qzow sraepn

[Option ID = 2497]

prepp
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5) Study the given image and answer the questions that follow

i e arnfRE t tamads 3T st se W sraRe mat & s e

What was the medium of the sculpture?

i 3reu @1 HeaH wior 71 3
[Question ID = 626][Question Description = $2_qSNz_PG_VIS_Q100]

1.

2. Cement and Concrete/difec wi wimiie

3. Terracotta/usq yiteer (23Er)

4,

Stone/orars

[Option ID = 2501]
[Option ID = 2502]
[Option ID = 2503]

Wood/ o

[Option ID = 2504]

Carrect Answer :-

Stone/urez

[Option ID = 2501]

Topic:- GP_25NOV_5H2_A

1) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation r’err:entage (%) of Ratio of Male to Femuale
employees employees

A 18 % 3.7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees
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fotgmieiian miferas! din ¥eel - ieol Fs1o6l (A - E) 3 el & yierer finisier o siiz ysy a algan waiel @ sdopurd @1 soridl 2 =it
aie HaIaell 3 et 35000 walarit oriza &

- to1eer [PAEIRR Y gftrerTen (%)gEY & iR arsn iyl wr g
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

The total number of employees in Organisation C is approximately what percent of the total number of employees in

Organisation D?

Fistod C A aotaf=l @bt o iz FHeroe D # @i &bt o sz o1 oepel feaen givrer & ?
[Question ID = 2016][Question Description = $2_qS5Nz_PG_GP20_Q01]

1. 147 %/147 % [Option 1D = 8061]
2. 312 %/312 % [Option 1D = 8062]
3. 207 %/207 % [Option ID = 8063]

4. 183 %/183 % [Option 1D = 8064]

Correct Answer -
e 147 %/147 % [Option ID = 8061]

2) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in

five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation lPercentage (%) of Ratio of Male to Female
employees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

miferet 3 2e a1y sicesi & amenz uT gl @ 3az S

forraifertian anferet Gie fitoor - fireol FHatosil (A - E) i el @ gicrerd farea ® siiz g a Al ool & Jolurd oI corldl 2 it
aiw FHetoail # wa 35000 wokad wriva &

walenfyent w1 ZHeroorar: Rorser ;
s sressr (PFCITRR Y gféerTar (% )/gsu a aidon wetaityt @ ARt
A 18 % 3:7
B 22% 11:9
c 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the total number of males in all the five organisations together?

13ft i FisTodl @l Prors: ysul & o dAx=n aar g ?

[Question ID = 2017][Question Description = 52_qSNz_PG_GP20_Q02]
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13350/13350 [Option ID = 8065]
14700/14700 [Option ID = 8066]
15960/15960 [Option ID = 8067]
16280/16280 [Option ID = 8068]

N R TCI X

Correct Answer :-
e 13350/13350 [Option ID = 8065]

3) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation r’err:entage (%) of Ratio of Male to Female
employees employees

A 18 % 3.7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

miferot 3 2e a1y sicesi & amen= uT gl @ Iaz S |

fotgmtei3an mifers! diT Yool - ieol Fsio6l (A - E) 3 el & yieror finisier o diiz ysd q aldcn oairl @ Adoard @1 soridl 2 =it
aiwr ¥etoail # wa 35000 woknd wriva &

eyl @51 Fvrcora Rsnsrer :

s sresar (PFITR Y gfrorran (%)ges @ wfdar astetyal wr srapar
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the ratio of the number of males in Organisation A to the number of males in Organisation C?

FieToor A A geal &t dwar v weroa C 3 gudl O sz o sropare aan 3 7

[Question ID = 2018][Question Description = $2_qSNz_PG_GP20_Q03]
1. 18:31/18:31 [Option ID = 8069]

2. 9:31/9:31 [Option ID = 8070]

3. 7270727 [Option 1D = 8071]

4, 9:19/9:19 [Option 1D = 8072]

Correct Answer :-
a 18:31/18:31 [Option D = B069]

4) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation Izerr:entage (%) of Ratio of Male to Femuale
mployees employees

A 18 % 3.7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3




www.prepp.in D re p p

Your Personal Exams Guide

Organisation-wise Breakup of Employees

miferot 3 2v a1y sicesi & amenz uT gl @ 3az S |

forgmteiian mifers! dit yeol - ieol de1o6l (A - E) 3 iyl & yierer fenisier o siiz ysd q aldon wairl @ sdourd @1 coridl 2 znit
aiw ¥etoail # wa 35000 wakad wria &

wafenfynl w1 Hstoerarz Rirsrer
s s1essr RPFCITR Y gfétenTar (% )/gsu a aifdon wetaityt @ arURT
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the difference between the number of females in Organisation E and the number of females in Organisation B?

Fooa E # afcsil &t sizcar iz Feroa B # sfzosii & FHzcar w1 e e & ?

[Question ID = 2019][Question Description = 52_qSNz_PG_GP20_Q04]
1. 210/210 [Option ID = 8073]
2. 350/350 [Option ID = 8074]
3. 170/170 [Option ID = 8075]
4, 300/300 [Option ID = 8076]

Correct Answer :-
e« 210/210 [Option |D = 8073]

5) Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female employees working in
five different organisations (A to E). There is a total number of 35,000 employees working in all five organisations.

Organisation r’err:entage (%) of Ratio of Male to Female
employees employees

A 18 % 3.7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

miferot 3 2v a1y sicesi & amenz uz gl @ 3az S

fotgmieian miferm! dia Yol - ieol Fs1o6l (A - E) 3 el & yierer finisier o siiz ysd a algcn waiel @ dourd @1 coridl 2 =il
gt Halaell 3 gt 35000 walarit oriwd &

=il o1 Herooanr iy ;

- oo (AT WY gftrerTen (%)gEY & mfda arsnfyal wr Argpare
A 18 % 3:7
B 22 % 11:9
C 31% 3:2
D 15 % 2:3
E 14 % 1:3

What is the sum total of the number of females in Organisation D and the number of males in Organisation E?
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Fieroor D # sifdemail &5t Fivear i isroar E 3 gedl & viwRr o o Ak aar 37

[Question ID = 2020][Question Description = $2_qSNz_PG_GP20_Q05]
1. 4375/4375 [Option ID = 8077]
2. 4475/4475 [Option 1D = 8078)
3, 450074500 [Option 1D = 8079
4, 4875/4875 [Option ID = 8080]

Correct Answer :-
& 4375/4375 [Option 1D = 8077]

Topic:- GP_25NOV_SHZ_B

1) What is the name of the score the student would get if the measurements were completely accurate and error-free?

g FATe Yol Jke 3iiz giceda a1, at el @1 et arl yrmke o o aar & 7

[Question ID = 2026][Question Description = 52_qSNz_PG_GP20_Q06]
1. |-score/ams - g [Option (D = 8101]

2. MNeutral score/mezr ymms [Option ID = 8102]

3. True score/amwfins gmnr [Option 1D = 8103)

4, Z-score/as - gmanr [Option 1D = §104]

Correct Answer :-
e |-scorefams - grrr [Option [D = 8101]

2) "Contagious" spreading of behaviours through imitation, is known as

GBI @ AR A REeRI ol "Jiafkis" gur weor § -

[Question ID = 2027][Question Description = $2_q5Nz_PG_GP20_Q07]
1. Random effect/azRees qana [Option ID = 8105]

2. Ripple effect/=b game [Option (D = 3106]

3. Scripted effect/Ritag gama [Option 1D = 8107]

4. Norm effect/mers qama [Option ID = 8108]

Correct Answer :-
# Random effect/==iRee ym [Option ID = 8105]

3) Given below are two statements

Statement I: In all interactions, a message is sent and a message is received. Sometimes teachers believe they are sending
one message, but their voices, body language, choice of words, and gestures may communicate a different message.

Statement |Il: To deal with cyberbullying, parents should be encouraged to keep computers in a pubklic room in the house.

In light of the above statements, choose the most appropriate answer from the options given below

iR &) weror Ru sie 3 :

arerat - | 2 It srcaeaREnett & vor wder gt Ban s 2 o was wdor aw sfdeygor fsar ster & ol - ol f9igrrs e & & oo Edor
51 3 &, Ui ¥ & Rp Jachl anarst, orfly vl orcl ool o<l i M silRNY o sfea Hae!l HUfa it 8

el - || asargeiEer” A rucal & o @waegedl ®f @2 & Adaere o 3 el @ R afinmast o gienfza oo aifde
FRITh Bl @ AT #, skl B o1e Ricecdl # 2 adl 37 &1 o= &difems @
[Question ID = 2028][Question Description = $2_q5Nz_PG_GP20_Q08]

Both Statement | and Statement [l are correct/wem | #i |l dieif &t & [Option ID = 8109]

Both Staterment | and Statement [ are incorrect/wem | & || Sist o & [Option 1D = 8110]

Statement | is correct but Statement Il is incorrect/weEr | = &, g wem |l srmr & [Option ID = 8111]
Statement | is incorrect but Staternent [l is correct/wemE | sremr &, freg oo | ==t & [Option ID = 8112]

oWk b2 o

Correct Answer :-
& Both Statement | and Statement |l are correct/wee | 3z || S =8t & [Option ID = 8109]

4) Match List | with List Il

List | List Il

Ericson's Psycho-social development Stage

A. Intimacy vs. Isolation |. Normally after retirement
B. Ego integrity vs. Despair 11, Much of adulthood

C. Generativity vs, Stagnation Ill, During adolescence

D. Identity vs. Confusion IV. During the 20s
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Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAfera Hifw

et - | et -l

(ufpaer @l - AIRRe Repra) |(==zo1)

A . TifoTeerll SollH UIhiget |I.m:ﬁmﬁfqﬁi$aﬁ
B. arga Teforest Soua Soeion |Il.maﬂaa$a$mﬁ
C. sreretieqasal gena sfersiorar |III. RseiRrazen A

D. aif¥aar sema spfoa |IV.20ﬁ29aﬁEﬁtang_if

oftar e oo froseal & 31 a8 saw gfee ¢
[Question ID = 2029][Question Description = 52_qSNz_PG_GP20_Q09]

1. A-1¥,B-1,C-Il, D -1l [Option ID = 8113]
2. A-1,B-11,C- I, D- IV [Option ID = 8114]
3. A-1,B -1, C-I¥,D- I [Option ID = 8115]
4. A-1l,B-1V,C-1,D- Il [Option ID = 8116]

Correct Answer :-
& A-IV,B-1,C-Il,D- Il [Option ID = 8113]

5) Which among the following are components of decision traps to illustrate what needs to be a possible evaluatory
framework to monitor the learning process?

A. Overconfidence

B. Coaching

C. Frame blindness

D. Taking shortcuts

E. Persistent misconception

Choose the correct answer from the options given below:

i gikpen &t eReh o Rie sk fearseraxp Sl =0 &1, J6 gollbl 3 ol ik ol (BRee $u) ® acw hofiiaa # A wia
27

A, afaarm
B. argyforsror

C. B aieran

D. oiie - @z T

E. zom=ft fireem - emzomr

sl 2w s10 faraseal 3 21 él 3T &1 wRIal Hifaw

[Question ID = 2030][Question Description = $2_qSNz_PG_GP20_Q10]

1. A, C and D only/@ae A, C 3 D [Option 1D = 8117]
2. A, D and E only/dxze A, D itz E [Option ID = 8118]
3. B, D and E only/@== B, D sfiz E [Option D = 8119]
4, B, Cand D only/@w= B, C 4z D [Option ID = 8120]

Correct Answer :-
o A, CandD only/d@saer A, C 4= D [Option ID = 8117]

6) The rationalistic mode of knowledge accepts the rules of

el @1 gigard] g feads formr amer 2 7

[Question ID = 2031][Question Description = $2_qSNz_PG_GP20_Q11]
1. Legality/Gear [Option 1D = 8121]

2. Manipulation/&aiz [Option 1D = 8122]

3. Logic/amursg [Option D = 8123]

4. Authority/Fmr [Option (D = §124]

Carrect Answer :-

& |egality/ferm [Option 1D = 8121]

7) Which of the following reliability techniques are used in qualitative research?

A, Diachronic reliability
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B. Quixotic reliability
C. Synchronic reliability
D. Holsti's constant
E. Chronbach's alpha

Choose the correct answer from the options given below:

Reafeifiaa d A wla - A Rivasam aweile] @1 Yriler s oner # Koar sr 8 ?
A. TrrRlRre Rrearseikea

B. scameiiyr Rrarseiea

C. wrmiftrr [Rrarteiim

D. zicel wr 32

E. @iemrs @ 301

oiil 18 =1u famcul # 3 A8 iz @1 oI BT 2

[Question ID = 2032][Question Description = $2_q5Nz_PG_GP20_Q12]

A, Band C only/@rm A, B aiiz C [Option [D = 8125]
B, Cand D only/@rm B, C 3z D [Option ID = 8126]
C, Dand E only/mrm €, D &z E [Option ID = 8127]
A, Cand E only/@mm A, C 3z E [Option |D = 8128]

oLk B —

Correct Answer :-
e A BandC only/gam A, B 3fiz C [Option ID = 8125]

8) Which of the following are the essential characteristics of the case study method?
A. Negatively oriented

B. Appreciation oriented

C. Particularistic

D. Descriptive

E. Inductive

Choose the correct answer from the options given below:

fraftifan d A ia-A Dw-seaas [ &6t sifar! Ridaae & ?

A. EpRIRE Wl 3T Joa

B. Jwea 2d @1 3l IomE

C. Ridreeamrdt

D. avieiea<e

E. smemenracn

ol f8u a1e Repoal 9 31 w18t 30w @l o=m Wifans :

[Question ID = 2033][Question Description = 52_qSNz_PG_GP20_Q13]

A, Band C only/@rm A, B aiiz C [Option D = 8129]
B, Cand D only/a@rm B, C 3z D [Option ID = 8130]
C, D and E only/&aer C, D &fis E [Option ID = 8131]
A, B and E only/das A, B afiz E [Option 1D = 8132]

o B

Carrect Answer :-
® A BandC only/gam A, B 3fiz C [Option ID = 8129]

9) Given below are two statements
Statement I: Qualitative research is impressionistic and subjective.
Statement II: Quantitative research has a higher level of possibility of generalising the findings.

In light of the above statements, choose the correct answer from the options given below

ohia) &) weor Ru s 3 :
averet - | 1 sponesds oiter Qoo i Rraairs sk 3
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grerat - || @ afyarenenss onter 3 yaaRert ai wrnslayn @bl &t staas raz & Heraan Exdl 3
I well aF sralr &, i Ry o faweal # A a8t saz o waa G @
[Question ID = 2034][Question Description = 52_qSNz_PG_GP20_Q14]

Both Statement
Both 5tatement

o e =

| and Statement |l are true/=seme | iz | Sl 3w & [Option (D = 8133]
| and Statement [l are false/svermr | iz || 3 asey & [Option D = 8134]

Statement | is true but Statement Il is false/=e= | 309 &, eeg o || amma 2 [Option ID = 8135]
Statement | is false but Statement Il is true/@uet | spea 8, foeg meat |l acx & [Option [D = 81346]

Correct Answer :-

& Both Statement

| and Statement Il are true/em | 2 |l Sl mr € [Option D = 8133]

prepp
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10) Match List

| with List Il

List | lList 1

Scale |Characteristics

A. Arbitrary Scale |I. Attitude statements are decided by judges

B. Thurstone Scale |II. Summated ratings

C. Likert Scale |III. Consists of seven spaces between two bipolar adjectives

D. Semantic differential |IV. Questions are selected on an a priori basis

Choose the correct answer from the options given below:

it -1 @t 3Eh -1l 3 s i

e - areht -1

(amash) |(Rroreran)

A. s waastt ||, afigha sificsersi @ froter forfaaswil et fioen ser 2
B. er<lor sneht ||, someolem wiR - Bredzon

C. ferd el |l z313t & foepdlar fdraull & dter zarer sierzrer 2T 8

D. sreeret Ristew |V, geal @1 @ geiepifers snenz gier &

i 2w s1e faeseal 3 31 wél 3o gfome ¢
[Question ID = 2035][Question Description = $2_qSNz_PG_GP20_Q15]

1. A-1,B-1l,C-1ll, D- IV [Option ID = 8137]

2. A-IV,B-1,C-
3. A-NL,B-IV, C

I, D - 11l [Option ID = 8138]
-1, D - Il [Option ID = 8139]

4. A-1,B-1Il, C-1I¥, D- | [Option ID = 8140]

Correct Answer :-

e A-I,B-1I,C-1ll, D- IV [Option ID = 8137]

11) Media kits

are used in

#tf3en foeel (ameroers asqail) @1 yRie ead v & 7
[Question ID = 2036][Question Description = $2_q5Nz_PG_GP20_Q16]

Imternal commu

oL B

Confidential communication /=insti= =gme [Option 10 = 8141]

mication/ sorfer =mmer [Option 1D = §142]

Classroom communication /s atwer [Option D = 8143]
External communication/=me mgwm [Option 1D = §144]

Correct Answer :-
& Confidential communication /sigefir iy [Option 1D = 8141]

12) Non-verba

| communication makes use of-

A. Behaviour to generate meanings

B. Emotional m

eanings

C. A non-clear system of rules

D. Verbal finesse

E. Clarity in abstraction

Choose the correct answer from the options given below:

onfecm AYET fioarpT Yeiier o & 7
A, el sroca @ & Bw =aen

B. sgomcars aref
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C. formt &t 31z - vuee yonedt
D. gnfécs w®iviel
E. 711z spgor @ Tusean
oirar fow a1 faaseal 3 2 7él Fnz @1 aae B ©
[Question ID = 2037][Question Description = $2_qSNz_PG_GP20_Q17]

A, B and C only/d@ae A, B 3tz C [Option ID = 8145]
B, C and D only/@== B, C sfiz D [Option ID = 81446]
C, D and E only/®%== C, D &z E [Option ID = 8147]
A, B and E only/<w A, B sfiz E [Option 1D = 8148]

bl D

Correct Answer ;-
e A, BandC only/<mm A, B diiz C [Option D = 8145]

13) A competent communicator is
A. Culturally neutral

B. Culturally sensitive

C. Totally ethical

D. Situationally ethical

E. An effective listener

Choose the correct answer from the options given below:

ALIN HYES a2 Bar 8 ?

A, HiTgitae =0 A acra

B. @izgfirs ®a A Hacoiel

C. qoiren diftrs

D. Rufr & sorane difcs

E. wos qendt ofyer

il R s1g Rraseal 9 7 =& 377 wr awar Hifsre :

[Question ID = 2038][Question Description = $2_qSNz_PG_GP20_Q18]

A, B and C only/dsaer A, B ahiz € [Option 1D = 8149]
B, C and D only/dze B, € 3z D [Option ID = 8150]
B, C and E only/dz B, C sz E [Option ID = 8151]
€, D and E only/@we C, D 4 E [Option ID = 8152]

P

Correct Answer :-
o A, Band C only/@am A, B diz C [Option D = 8149]

14) Information provided before sending the primary message is known as

greifires Figer feral A gsd & sud archt Jyaen o waa §

[Question ID = 2039][Question Description = $2_qSNz_PG_GP20_Q19]
1. Intro/atxr [Option 1D = 8153]

2. Indicator/smerr [Option 1D = 8154]

3. Pre-message/gd - =i2er [Option 1D = 8155]

4. Feed forward/smy gtz (= wizag) [Option D = 8156]

Carrect Answer :-
# |ntro/ufxm [Option ID = 8153]

15) Given below are two statements
Statement I; People use non-verbal cues more than verbal cues.
Statement |l: Non-verbal cues have better believability than spoken words.

In light of the above statements, choose the correct answer from the options given below

o) S wemt Rese ¥ :
et - | 1 oiter onfigos Awdal A auffros senfRoes dAdbdl o galer wed §
weret - 1l @ srenfRow ddbaet 3 aftia ot @ adan dzas Rraashaar k1 3
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I waell aF sralrs &, i Ry so faweal J A w8 saz o waa Hifse @
[Question ID = 2040][Question Description = $2_qSNz_PG_GP20_Q20]

1. Both 5tatement | and Statement Il are true/=em | iz |l Sl a0 & [Option D = B157]
2. Both Statement | and Statement |l are false/mrerm | 33 |l Sl amey & [Option (D = 8158]

3. Statement | is true but Statement Il is false/mewt | 37 &, Proqg @ua |l sera 2 [Option [D = 8159]

4. Statement | is false but Statement Il is true/=ue | s B, oo wemt || aica 2 [Option 1D = 8160]

Correct Answer :-
® PBoth Statement | and Statement || are true/Trem | 4z || gt =1 & [Option D = 8157

16) What number should replace the question mark(?)?

3529, 64, 9817, 115, 3257, ?

o de=n @ g gesilas o grenite B serr aife ?
35, 29, 64, 98, 17, 115, 3257, 7
[Question ID = 2041][Question Description = $2_qSNz_PG_GP20_Q21]

1. 126/126 [Option D = 8161]
2. 89/89 [Option ID = 8162]

3. 98/98 [Option ID = 8163]

4. 146/146 [Option ID = 8164]
Correct Answer ;-

& 126/126 [Option ID = 8161]

17) A man weighs 75% of his own weight plus 39 [bs. How much does he weigh?

e wafvs @1 asiel, a6l ¥Rl @ asie w1 75% 3iv 39 awes ¥ s arvafics aser o 3 7

[Question ID = 2042][Question Description = $2_qSNz_PG_GP20_Q22]
1. 165 lbs/165 urvs [Option 1D = 8165]

2. 160 Ibs/160 mmvs [Option 1D = 8166]

3. 156 Ibs/ 156 umvs [Option 1D = 8167]

4. 166 lbs/166 u=es [Option 1D = 8168]
Correct Answer :-

® 165 |bs/165 ez [Opticn 1D = 8165]

18) Ravi's salary is increased by 20%. On the increased salary, the tax rate is 10% higher. The percentage increase in tax
liability is

3fa o1 Aaer 20% a1 8w e @ gu dae uz & B 57 10% =arer Fet 8 o Saan I gftera gfig 8 :

[Question ID = 2043][Question Description = S2_qSNz_PG_GP20_Q23]
1. 20 %/20% [Option ID = 8169]
2. 22 %/22% [Option ID = 8170]
3. 23 %/23% [Option ID = 8171]
4. 24 %/24% [Option ID = 8172]

Correct Answer :-
* 20 %/20% [Option ID = 8169]

19) Given below are two statements

Statement I: A 60 m long train passes a 90 m platform in 10 seconds. The speed of the train is 45 km/hour,

Statement II; If the ratio of the speeds of A and B is a:b, then the ratio of the time taken by them to cover the same
distance is a:b.

In light of the above statements, choose the correct answer from the options given below

iKY 31 erat Rw s B ;
werd - | ¢ w60 ez asdl Yoend v 90 e wionis @1 10 Ads 3 uiz oz aar § Yoendl &t o 45 el / dex &

were - || ¢ A 3fiz B &l @iret @1 aguid a & b E; Al 3ad Skl 3ele gl 99 el @ fre, oty o1e el @1 aguri a t b 2
IURE el @ el N, ofly e o1¢ fameal # 2 7t 30z @1 oo &ifem
[Question ID = 2044][Question Description = $2_q5Nz_PG_GP20_Q24]
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Both Statement | and Statement Il are true/=se@ | 4tz |l g a3y & [Option D = 8173]

Both Statement | and Statement |l are false/mam | iz || Swil azmy & [Option (D = 8174]
Statement | is true but Statement Il is false/wue | 3w &, Prog oum || seea @ [Option 1D = 8175]
Statement | is false but Statement Il is true/wuet | seea 8, foeg maat |l s & [Option 1D = 8176]

oW

Correct Answer :-
« Both Statement | and Statement || are true/Trem | 4z || dmi Ii=r & [Option 1D = 8173]

20) Answer the following statements?

A. At 5% rate of simple interest, a certain sum will be doubled in 15 years.

B. A sum becomes double in 10 years. The annual rate of simple interest is 12%.

C. ¥1000 will become ¥1331 in 3 years at compound interest rate of 10% per annum,

Which of the above statements is/are CORRECT?

forrafertian werel uz e Hifem ;

A, 5% zrenzur sars &t o2 uz, v fafkaa w1t 15 adt 3 el a1 il 2

B. v afdr 10 adf 3 gomwlt 21 siefl 3 wnenzor svet &Y aiftfes o 12% 2

C. difor adf 3 T1000, 1331 3 swen, 10% Frcren aiftie awgly e o o a2
oflal 1w a1v taascal 3 31 7 T @1 oo i @

[Question ID = 2045][Question Description = $2_qSNz_PG_GP20_Q25]

C anly /o C [Option 1D = 8177]

A and C only/dae A &tz C [Option ID = 8178]
B and C only /@ B stz C [Option 1D = §179]
A and B only/@=m A & B [Option ID = 8180]

oW R

Correct Answer :-
e C only/@wa C [Option 1D = 8177]

21) Match List | with List [l

Consider the following in the context of the Square of Opposition of Propositions

List | List Il

Propositions Square of Opposition

A, If A" is False I. 'A" and 'I' are False

B. If 'E'is True |II. 'E' is False; 'I' is True

C. If 'I' is False L. 'E’ and 'O’ are True

0, If ‘0" is True ]IV. 'E' and 'I' are Undetermined

Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAfra Hifw

e2kei il it -

A. 3P ‘A srea 3 l. A" afiz I smrer 3

B. a1z 'E' amIea I, 'E s g 'l' acr 2
C. aer ' s & Il. 'E' afiz 'O" e &

D. 3@z 0 A 2 1V, E' afiz 'I" arforenfya &

of fon a1e sl & 21 w1t ga= giong ¢
[Question ID = 2046][Question Description = $2_q5Nz_PG_GP20_Q26]

1. A-LLB-IL,LC-1Il, D- IV [Option ID = 8181]
2. A-1L,B-1,C-1Y, D-1|[Option ID = 8182)
3 A-NLB-1L,C-, D- IV [Option ID = 8183)
4, A-I¥,B-1, C-1,D-1l[Option ID = 8184)]
Correct Answer :-

e« A-I,B-Il,C-Ill,D-IY [Option ID = 8181]

22) Name the fallacy committed in the argument
All dogs are mammals.

No cats are dogs.

Therefore, no cats are mammals.

Choose the correct answer from the options given below
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6 i SraeliA o ond ford !

9l @t Fearerrdt 2 &

oI faccll @ off 2

3a: ¥ facolt Forardt «idt &

[Question ID = 2047][Question Description = $2_q5Nz_PG_GP20_Q27]

[llicit Major/ i mmes [Option D = 8185]

IWicit Mineor /arte gt [Option 1D = 8186]

Undistributed Middle / aRpnfae 2 [Option 1D = 8187]
Existential Fallacy/af3rrmrn=t Zeamsma [Option 1D = 8188)

e ld B

Correct Answer :-
o [llicit Major/arle smeer [Option (D = 8185]

23) From the options given below, pick the CORRECT sequence in the context of constituent parts of inference

9ft @ glefl w1 ovIel, AeIATd © Hacw el @ FAeol A o -

[Question ID = 2048][Question Description = $2_q5Nz_PG_GP20_Q28]

1. Hetu, Udgharana, Nigamana, Upanaya, Pratijha/&g, Joen, Bemm, sus, giesn [Option 1D = 8189]
2. Nigamana, Hetu, Udaharana, Upanaya, Pratijha/kEeem, &, 395w, 3w, gisn [Option 1D = 8190]
3. Pratijha, Hetu, Upanaya, Udaharana, Nigamana/qfemr, &, 3u=E, Joevl, e [Option 1D = 8191]
4, Pratijna, Hetu, Udaharana, Upanaya, Nigamana/gfm, 2, Socwr, suar, foema [Option ID = 8192]
Correct Answer :-

e Hetu, Udaharana, Nigamana, Upanaya, Pratijha/2g, sec, fremm, suar, gis [Option ID = 8189)

24) Match List | with List [l

List | IList 1l

. Samanyalaksana l. Intuitive perception of all objects- past, distant and future due to supernormal powers
’:ratyak'_sa Lenerated by meditation
B. Jhana Il. When objects are not actually present to sense but are conveyed to it through a special
Laksana Pratyaksa medium
C. Yogaj Pratyaksa |III. Perception of an object which is in contact with sense through previous knowledge of itself

D. Alaukika Pratyaksa |IV. The perception of a whole class of objects through a generic property
Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR AR

it - i -l
i I. exmve1 31 Seuoor afdrsrdTser orfvpeit & wereur =nfl ugrelt &5 age,
HATHIGICISIVT :

GITer o sifdcer a1 Ao EIsIod Yraer siar 3
B. set aar ||, @1 ueref areaa 4 sfegHl &g sufier & @i afcw vo g
EeTst AR B HIRT YA &l
C. = ll. o=t uerel @1 yragiioan = slogal @ dud | 8, sad ud -
geTat STal @ S
D IV, gorelf @ F9e) aof wr graslicssor, snfer @ aean 3

sk o oo Repedl & 31 w16l 3= gfene :
[Question ID = 2049][Question Description = 52_qSNz_PG_GP20_Q29]

1. A-I,B-LC-1N, D-I¥ [Option ID = 193]
2.0 A-1L,B-IIL,C-1, D- IV [Option ID = 8194)
3 A-IW,B-NI,C-1,D -1l [Option ID = 8195]
4. A-NL,B-1,C-1, D-I¥ [Option ID = 8196]
Carrect Answer ;-

@ A-I,B-I1,C-IlIl, D- 1Y [Option ID = 8193]

25) The example 'sound is eternal because it is caused’ represents which of the following Hetvabhasa

‘ore/ tafor forea &, a=ilks A 3vuca Rpe s ' g 3esevl, forotlikiRaa # Row gcanma 31 Jag 27

[Question ID = 2050][Question Description = 52_qSNz_PG_GP20_Q30]
Ashrayasiddha/amermRng [Option 1D = §197]

Svaripasiddha/Fasulig [Option 10 = 8198]

Viruddha/Reg [Option 1D = 8199]

Kalatita/ /it [Option 1D = 8200]

o kad R
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Correct Answer ;-
e Ashrayasiddha/anspoiizg [Option 1D = 8197]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A good computer networking solution can be very much beneficial for your business.
Reason R: With computer networking, you can cut back on costs and allow for efficient use of resources.

In light of the above statements, choose the correct answer from the options given below

il <) ool Ru s & ;. ues aifdrsere (Assertion A) @ wu 3 3iiz g1z 351@ @rewr (Reason R) S wa 3 ©
AfipereT (A) | O ol TIRLT sicaldsT Alcglel AMUd <R & (e affamere 8l Jdarn 8

@101 (R) : ©wIee oealdsst @ A, U AR &3 D2 D 2 iz AN & Balraed AP &3 HdT &
IUNh Bl o reld #, it [du faeedl 3 31 w1 3az &1 g Hifs |

[Question ID = 2051][Question Description = S2_qSNz_PG_GP20_Q31]

Both A and R are true and R is the correct explanation of A/ (A} 3fiz (R) &t o1 € &tz (R), (A) & st == & [Option 1D = 8201]

Both A and R are true but R is NOT the correct explanation of Af(A) stz (R) Sell 3t/a & weexg (R), (A) o1 oavdt =ne=m ot & [Option ID = 8202]
A is true but R is false/(A) == &, weag (R) smwr & [Option ID = 8203]

A is false but R is true/{A) s &, weog (R) swr & [Option ID = 8204]

o R

Correct Answer ;-
e Both A and R are true and R is the correct explanation of A/ (4) sz (R) imt 7mx & iz (R), (A) &t =8t s & [Option ID = 8201]

27) Arrange the following optical storage devices in increasing order of their storage capacity.
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below:

foraatifenn aiiftema sisrm/emdlon sudvil ©f Jorbl MUSIZUT Hdl © a6 o A caatier s |
A, Stidn

B. 2fi.4Y. - ameaiiua

C.agg- ¥

ol 18w =1u fameul # 31 AE iz @1 oI HIfg 2

[Question ID = 2052][Question Description = $2_q5Nz_PG_GP20_Q32]

A, B, C/A, B, C [Option ID = 8205]
B, A, C/B, A, C [Option ID = 8206]
A, C, B/A, C, B [Option ID = 8207]
B, C, A/B, C, A [Option ID = 8208)

B R L

Correct Answer :-
e A, B, L/A, B, C [Option ID = 8205]

28) Given below are two statements
Statement I: Tablet computers have touch screens.
Statement Il: A tablet computer has a keyboard.

In light of the above statements, choose the correct answer from the options given below

oifl o ware R smw 3 &

el - | 1 et GIRRs & U o R SR 3

werel - || @ vep Eace wrges 3 Hikis i &

IRITE Wl @ e A, o e o1e Rrasedl d A 718 o= @1 ags Sib
[Question ID = 2053][Question Description = 52_qSNz_PG_GP20_0Q33]

Both Statement | and Statement || are true/wem | diiz |l siaf s & [Option 1D = 8209]

Both Statement | and Statement |l are false/wem | & || S spwr & [Option 1D = 8210]
Statement | is true but Statement Il is false/=ea | 30 2 |, oog o= | smeg 2 [Option 1D = 8211]
Statement | is false but Statement Il is true/=em | ammg 8, foeg e || g & [Option |D = 8214]

ol B
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Correct Answer :-
e Both Statement | and Statement 1 are true/mem | #i= || S=if I= £ [Option D = 8209]

29) Which of the following statements about desktop and laptop computers are TRUE?
A. Most modern laptop computers have built-in webcams

B. Desktop computers are not very portable

C. All desktop computers have built-in touchpad

D. Laptop computers are rarely supplied with a mouse

Choose the correct answer from the options given below:

FTpia gtz Audia Taeee & ai i Srailiea weeil 3 oia aeT 2 ?

A, affrons amegfeors dadia oree: # da - S usd 3 eI AT e E
B, 3rwdiu waes aga AlRe Fernmiaer - @eT #d 2 &

C. wft 3rpdiu povpdi difce - s ca - Gs @ 2

D. diudia wexgedt & amgfif s & Ay aga & oa affFefrd # arft 2
olil few a1z famedl d 3t iz @I ws Hifae ¢

[Question ID = 2054][Question Description = S2_qSNz_PG_GP20_Q34]

1. A, B and C only/@@m= A, B 4 C [Option [D = 8213]
2. A, B and D only/@am A, B sfiz D [Option D = 8214]
3. B, Cand D only/@am B, C &iw D [Option ID = 8215]
4, A, B, Cand DfA, B, C &z D [Option ID = 8216]

Correct Answer :-
o A, BandC only/dmm A, B diiz C [Option [D = 8213]

30) Match List | with List [l

List | List Il
{(Computer Terms) (Examples)
A, Operating system . Pentium
B. Application software Il. Linux

C. Processor lll. Router

D. Network Device IV. Anti-virus

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 @R iR

et - | it -1
(wrge? ug) (35rE200)

A, st RBreewn |, tfoeas

B. uitadbora diecdas Il. asoras

C. JiRizie I, zr3ez

D. sxca Basa IV. &t - arsea

iy Rw a1e faseal 3 31 wé Iw giew
[Question ID = 2055][Question Description = $2_qSNz_PG_GP20_Q35]

A-1,B-1V,C-Il,D- Il [Option ID = 8217]
A-11,B-1V, C-1,D- il [Option ID = 8218]
A-1,B-IV,C-1ll, D- I [Option ID = 8219]
A-NI,B-11,C-1, D- IV [Option ID = 8220]

N O PE N o Y

Correct Answer ;-
o« A-I,B-IV,C-Il,D-I1Il[Option ID = 8217]

31) If the wind speeds increase from 4.0 m/s to 5.0 m/s, the power output from an ideal windmill will increase by a factor
of about

Afe uast o aifea 4.0 3. / 3 A ggos 5.0 A/ & =l B, o oo ancof det waadhl 3 gy Sl ard faefa Ieacol d ceneT bdo!l @ PG A
afy seht ?

[Question ID = 2056][Question Description = 52_qSNz_PG_GP20_0Q36]

1. ~2/~.2 [Option ID = 8221]
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| “Era@haad [Dption ID = 8222]
3. 4/ 4 [Option ID = 8223]

4. ..5/~.5 [Option ID = 8224]

Carrect Answer :-
a 2/, 2 [Option ID = 8221]

32) In which year did the first commitment period of the Kyoto Protocol come to an end?

aae qicisiar © asal yftrgar wrer o sda Bow ad & g0 ?

[Question ID = 2057][Question Description = $2_qSNz_PG_GP20_Q37]
1. 2011/2011 [Option ID = 8225]
2. 2012/2012 [Option ID = 8226]
3. 2014/2014 [Option ID = 8227]

4. 2008/2008 [Option ID = 8228]
Correct Answer :-
e 2011/2011 [Option ID = 8225]

33) Match List | with List [l

List | List Il

Disease Mode of spread

A. Cholera l. Lack of water to maintain cleanliness

B. Trachoma Il. Involves water contact but not ingestion
C. Schistosomiasis ]III. Ingestion of polluted water

D. Dengue |IV. Requires host

Choose the correct answer from the options given below:

et -1 @ et -1l 3 R b

et | et -1l
(3e1) (g 1 ansteoT)

A, BeIT |. oo aar @ 19 ST 1 3

B. a1 (@iam) I1. 5253 sict R 3iuas e 2 Uz aicElEu od
C. Predfrifm . gefe oo o siopfeon

D. IV. ozt @B smrergersar 21k 3

of fon a1 fascal & 21 w1t gae gione ¢
[Question ID = 2058][Question Description = $2_q5Nz_PG_GP20_Q38]

1. A-1l,B- 1, C- IV, D -1 [Option ID = 8229]
2. A-NI,B-1,C-IV,D -l [Option ID = 8230]
3, A-NL,B-1,C- N, D- IV [Option ID = 8231]
4, A-1,B-1ll,C-I, D- IV [Option ID = 8232]

Correct Answer :-
« A-J,B-1,C-IV,D-|[Option ID = 8229]

34) Which one of the following Sustainable Development Goals (SDGs) is related to sustainable consumption and production
patterns?

forgmterfian A 31 @it - A1 Femwwika e aga (var 1 5it) Femvii=r Sueiiet iz Srucel @ U A Hdlfa 8 7
[Question ID = 2059][Question Description = $2_q5Nz_PG_GP20_Q39]

1. SDG 9/ua = st 9 [Option ID = 8233]

2. SDG 10/ <t ot 10 [Option 1D = 8234]
3, SDG 11/eastst 11 [Option ID = 8235]
4, SDG 12/wa <t st 12 [Option ID = 8236]

Correct Answer :-
e SDG 9/ux sl 9 [Option 1D = 8233]

35) What fraction (%) of the total primary energy used in India is derived from biomass?

HIZ 3 YeieT i A arell o Yrelis Sl @1 @l - At e (%) Siassr (ariian) 3 sruoet gien & ?

[Question ID = 2060][Question Description = $2_qS5Nz_PG_GP20_Q40]
L1, ~32%/7~ 32% [Option ID = 8237]
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| 2. ~42%7~ 42% [Option ID = 8238]
3. ~56%/- 56% [Option ID = 8239]
4. ~22%f~ 22% [Option ID = 8240]

Correct Answer -
® ~32%/- 32% [Option ID = 8237]

36) What does NIRF stand for?

wot 3% 3R U (NIRF) s gui ma e & ?

[Question ID = 2061][Question Description = S2_qSNz_PG_GP20_0Q41]

National Institute of Ranking Federation/atgmre sf¥zeye sifw vt ds¥em [Option ID = 8241]
National Institute of Ranking Framework /digrme si¥ece siiw Inar ¢ awa [Option 1D = 8242)
National Institutional Ranking Framework./dlsrmrer sfiegmeme e B [Option 1D = 8243
National Institutional Ranking Federation/stermm shoemm e deleer [Option (D = §244]

bl B

Correct Answer :-
e National Institute of Ranking Federation/dtemrT sfivemr sifws 3ser dssemr [Option D = 8241]

37) The term 'open learning' represent approaches that focus on

A. Opening access to education and training provision

B. Freeing learners from the constraints of time and place

C. Learning and evaluation without a specified curriculum

D. Offering flexible learning opportunities to individuals and groups of learners
E. Making students free from any educational loads

Choose the correct answer from the options given below:

forraifertianT 3f 2t fopoIuz o1 DI D01 areY SUPHEI ® "Jrp AltEEr (3ue afefar) eres gorfer 2 7
A, fd1gm a gRrstur & yraers ol uga 3 el

B. mar sz Femer &1 FHtamafi A ignf2f @) 36 wwen

C. Fpzi fafdre umigerert & Ren affpm Az Jeaicsa

D. cafepal iz forgnell st o ardiel atidretan srawz ygrel Hol

E. tepzit Sifére sz A faentiel o #p oo

il R s1g Rraseal 9 7 78 377 w1 awar Hifsre :

[Question ID = 2062][Question Description = $2_qSNz_PG_GP20_Q42]

A, B and C only/@ae A, B 3tz C [Option ID = 8245]
A, B and D only/dae A , B ditz D [Option ID = 8246]
A, B and E only/ae A, B aiiz E [Option 1D = 8247]
B, C and D only/@== B, C sfiz D [Option ID = 8248]

oW R

Correct Answer :-
e A, Band C only/@am A, B sz C [Option D = 8245]

38) In CBCS, Ability Enhancement Courses are of two kinds. They are:
A. Ability Enhancement Compulsory Courses

B. Skill Enhancement Compulsory Courses

C. Ability Enhancement Elective Courses

D. Skill Enhancement Elective Courses

E. Skill Enhancement Courses

Choose the correct answer from the options given below:

CBCS & A dasthr airrgA St gor S § 33
A. @i Faelor siforart argoras

B. wiorar ziasler sferart ageagn

C. =Msam Hasla Jolas aoasa

D. wigrar Hacla Softas agaam
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E. dhierer saslor arperags
oflY R 1w Rraseal 3 31 18 307 o awer S :
[Question ID = 2063][Question Description = 52_qSNz_PG_GP20_0Q43]

4 and B only/&am A i3 B [Option 1D = 824%]
A and C only/@aer A itz C [Option 1D = 8250]
4 and D only/@aer A itz D [Option ID = 8251]
A and E only/<@e A 4 E [Option ID = 8252]

e

Correct Answer :-
& A and B only/@aa A sz B [Option 1D = 8249]

39) Which of the following is a private university?

forsarfer¥oe 3 3 wior -ax forsht Rreafienery 3 7

[Question ID = 2064][Question Description = $2_qSNz_PG_GP20_Q44]
1. Anna University/sean frafenem [Option (D = 8253]

2. BITS pilani/fezr (BITS) fiemstt [Option 1D = 8254]

3. Burdwan University/adas fraftemers [Option 1D = 8255]

4, [T/ 3ms amws ams <t (HIT) [Option ID = 8256]

Correct Answer :-
& Anna University/awar fegiteners [Option |D = 8253]

40) India has been attracting only a fraction of international students because of
A. Lack of residential accommodation for foreign students

B. Difficulties in recognition of international qualification
C. Rigid admission process

D. Lack of enthusiasm among teachers

E. Lack of enthusiasm among students

Choose the correct answer from the options given below

sz A Boa wiver agn on sinvarea Rreneff and @ § 7

A. foft migl @5 fre smareiter given oot spoa

B. siersuredler wieeran ool wswIen Ygrel wor A ezl

C. e gdor giawr

D. forarpt 3 IraTs w1 MM

E. Renf2Ri 3 e wr s

il R 1w Rroseal 3 31 w8 30 w1 awer Hiftwe :

[Question ID = 2065][Question Description = $2_qSNz_PG_GP20_Q45]

1. Aand B only/sam A iz B [Option 1D = 8257)
2. Band C only/@ae B diiz C [Option 1D = 8258]
3. Cand D only/awe C iz D [Option D = 8259]
4. Dand E only/<@ea [ afiz E [Option ID = 8260]
Correct Answer :-

o A and B only/@a A sz B [Option 1D = 8257]

Topic:- GP_25NOV_SH2_C

1) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013,

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
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hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes, It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. lllumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

ol fou sreTion ©1 earageds ufew :

giterepaiail & oo HIE S i we dffas goorel Yguu Aelfel Z1T off Reell, @amdr Az dergs of e @ die wafttres goerer ygam
It SP1R1 A 3T SR § ¥ T YTl gyguvl 6Bl sremeil Fen < g sa @) sien anige W Dad Brwst dwa & o s sem grme o 2 8
afees el g solidrst off 8 yooret yguur ol Arusd Sige ar gotel - cadgee & sliokblze giid 3 2 s[id @ide are gl - caasal of
RIS WS U2 IRen gl D fre ¥t asd @ wa # kd 3 oiiv 25 & 318 3 ag6l @ wm o5 # werrr ol 3, s @ o e
uf g iy, gehaet, yme scaife & o seot geiiet @f Ijen a6 arn g, 5t gt geuv &1 [ 3cusel Bidl & 3eiRsl 3 26 ®f o &
fs 20 auif &1 srafdl 3 G smea & arsst aredt A g 2 arcdt A 3 et - e giy At o B, B o Reeh, Acionen, eRg, Sales A
T qRer & 1993 3 2013 & S "sRrw youvr g’ gty 2wm ot Rewd §

srafing @iE ara goerer - e A o Dad #osI D TR 1R dfe uyl - uldRl 3iz Gidl & rarea ur sz san waiawer uz sht o
BiforeRs g 8K § 1R B SR arsdt & geier A gl o iz uerd & foe fios! am dd & giy 2ril 2 uig 9@ gaa 'afy - o' &
TAIAT Foeasa gt & o Fswl Ot sssacar an san g 3 gaor slean ¥ oY w9 ol snal & widen? aift B san By - Sieror T a3 saosT P
Usl &, rao! aarfl #ollcorril a e Uz 3ibilz Yy Us A®dl & JF1 ©f Yeius qefail siz $icl oI it gulera oz & o191 gguv 3
Hatitre gifer wfeae B iz afarl @) 8xil 8 a1 308 oyl @z Sar 2 AT Jord> Yololol ®t 3T Gorrasu  Jokdbl SolHel ®f GHIRT @l 2

The light pollution map is related to adverse effects of
gebT91 Yol Areifen] o gitrme ol 31 Hafteg 8 7

[Question ID = 2066][Question Description = $2_q5Nz_PG_GP20_Q46]
1. Sunlight /= =51 gamgr [Option (D = 8261)]

2. Outdoor artificial light/arsr sftpr geer [Option 1D = 8262]

3. Urban electricity projects/ s fea afsiemnd [Option |D = 8263]

4. Rural electricity projects/smilor g uiicemd [Option ID = 8264]

Correct Answer :-
o Sunlight/z =01 gamer [Option (D = 8261]

2) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting, While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment, Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.’' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. lllumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations.

i) feu sreior &1 eamngls ufsu |

oNeImalll © v AgE SRl ol ve dfa® Ymrel yguu Akl £HI o [Gocll, Towm iz dorgs o Mkd © e Jaif2es goret Yyguu
AR oerel A ¥ gk ¥ s sd gosier gouor 9 anemelt Amwn @ gft ada 8 sen @@ o Daa Bt Awor & Rie s s o o 3 8
afees e g solfdyst off 8 yooret Yyguur ol Arrusd Sids ar gorl - g & slioiblze giid 3 2 Sl @mide are gl - caaral of
AP FSDI U N dglal D 10 e ersdd @ wu & Axcdt 3 iz 21E & 318 H ugol a B Dl A AR oxil 8, e & T cor! |
ufygdif, gdlaa, qar scafe @ i sownT griler of spen g% orn 8, BRIt gae1er gouvr @l Jaar Fcued il & 3ieral i Szt ol e 2
f5 20 auf & arafin 3 g} vra d szl ousd 3 qig g1a arcdt S 3 o - oy gy 2t orf 2, ol of Reefl, Acienan, #en, oalkes iz
It gqoar A 1993 3 2013 & da "scaftes gouor digar” gfy; Sw6t o freadt 3

arcafRre ot arer gos1er - saasen A o da Ao D Farrey a3 afte ugl - uffrd s IS © Tared gz siiv AR gufazer uv ot of
Bifoipad Qo 2kl 2 Ay & i arsdl © geiet 3 gal: oW A uerd © v fice! an d@d # gfy 2t 2 uwig sad gan "Iy - da’ &t
HAFA Ieool Bkl 8 o1 ASHI DI Issaerdl DI g 121 I gl 2k 3 ot &3 olic et 3 ®idand 2l 2z forgy - SR o[ Uz THe! Y[
USdl 3, FRTnl ARt Aol a IR 0T o6 g Us Jddl & aRl @ goldor Tordl Az @icl @ it gl oo & geprer geuvr #
Faifere aifer afe@z G stz ufirei @) 2xll 2 a1E 308 Royfia =z Sar 2 3l Jord goiolol @1 iz Boras=a  Jekbl SAasien & ganfa @ 2

One of the major pollutants is in the form of
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[Question ID = 2067][Question Description = $2_qSNz_PG_GP20_Q47]
1. Indoor lights/aiez @5t ase [Option ID = 8265]

2. Street lights/mmro &t e [Option D = 8266]

3. Home lights/m @t most [Option 1D = 8267]

4, llluminated advertising/ g2t gz [Option D = 8268]

Correct Answer :-
& [ndoor lights/ gz &t onzé [Option 1D = 8265]

3) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about, Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
“very high light intensity pollution” rise between 1993 and 2013,

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our envircnment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations,

il R srerior o exnargdes afew :

sitercpaial © oo Tys F Rofa vo g goorer gguor aeiftg e o Reell, oo iz dergs ol ura © da walfeers gosrer gouor
dIct oPRI 3 T3 R0 S &4 UonIol YouvT bl el Feen & gia Fad 281 oren aifge o diaa Rrernl Ada & foe 21 aemwe [ o 2 3
afe f3rara &1 arcliiiet oft 2 gopIor QgHuT ol dreusl i arer g9l - sIasl @ sliokbize gurd 3 8 =dics DigA arer gorel - w<razan &l
TR ASD] UF AL 96M @ ]1e ¥ amal @ a0 # Skt 3 offz <% & il 3 ugel 9 T 30l d AGRKF B &, 8 B TD SoRpl 3
uf g iffy, gehuet, yme scaife & o serot geiiet @f sjen a6 arn g, ey ymrer geuvt &1 Jesar 3cuse Bidl & 3MeRsl A 26 ®f o &
s 20 oaf &t amfdy & o siea & ol asd 3 gm Sa archt S 7 oY - oD ofy At o 3, Rt o Reell, dcionon, wesrrsg, worlco siie
Iz geor & 1993 31 2013 o dta "l gguot dign” gfy 250 ot Besht

eelitns SigH ara Yoeror - wraren A o dad #Agsd © Faree’] Uz dfed ugl - ufdrdl sfiv G & rarrea uz iz sy wafawn uz oft @F
BiforpRs g 8 E AR B R asdl & geier A gl o iz uerd & fom firos! am Od # giy 2l 2 uig 9@ gaa 'afy - o' &
AT IeUool Bl & S A5 Bl Feodcidl DI gHIS T31 H Y9I Sidl & I 54 olic ol H Dideig ekl £ AR Higl - SIPRY o™ u? 331 gHE
Uzal 8, ForaoeT sardl Helicemal a Tarred az siilz g Uus Aol 3 aPl ©f geidel agpail iz &idl ol it gufaa oz 8 gorel gguur 3
Faiites sifor wfe@e i i afdrd o Sd@t 3 as 368 Koyl o7 3o 3 317 3or gaieiol @1 i Sorasa Jordi Srorwar ol gquifda o 8

Light pollution intensity refers to
gasigr gguor digear w1 avad Read § 7

[Question ID = 2068][Question Description = $2_qSNz_PG_GP20_Q48]

1. Increased outdoor brightness during night time /=i @5 morr aeft & awe S [Option 1D = 8269]

2. Manifold hike in use of electricity in rural areas/sqefior S # Rowft @ geier 3 = apem gy [Option D = 8270]
3. Use of artificial light for road safety/aees Fesn o fong mioe onge =1 geden [Option ID = 8271]

4. More and more use of electricity in urban areas/s=# gl 3 Foei o afieeiter gaer [Option (D = 8274]

Correct Answer :-
® |[ncreased outdoor brightness during night time/afe & s &= 28 @ner 21 [Option ID = 8269]

4) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about. Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution, Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
"very high light intensity pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night.' We find it difficult to fall asleep when the glow of streets enters our
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homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. lllumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution, It makes
them disoriented, impacts their reproduction and thus their populations.

oifl fow sEner @l sxaergd® ufee :

oIl & o AgE SR faehin e dfa® Yol qguv AlIReg £HI o [Gocll, Towm iz dorgs o Mkd © tila a2 Joret Yguu
arcl ool 3 TI RN B SR & YobIel YguUl ol ARl Fasn @ gfa 9 21 Silen aIfde of dad el Ado) @ fA1e a0 o1e1v g & 3 8
dfcw BrRt o seiss s 3 georer geuur w1 arued iie a@ geeidl - <l @ silorpRa |pid A & smike o arsr georen - <aasan Bl
HITYADAL A3D] UT Y& a96Id @ [ Fiie amd & w4 # 2ikdl & ol a1 & sl 3 ugs 9 T Tl d ATR Bl &, E) © T coldl 3
afrgéifr, gflaer, gmz seanfe @ fore sawT grilst @ s a6 k0 3, Brard gosrer gouor & marar scasa et § siearrsil § S o Broer 3
R 20 adf & araf?r # g sura 3 @l cosdd 3 g gl arctt S o Y - oY gf; 26t =1f 3, forl o Reel, dcienon, senrs, Tates iz
Fz geor & 1993 3t 2013 o& da "acafles gguu digm” gfy 2w ! fhaedt 2

Acaltin S 9rEl YoeIeT - Wrasel 3 of dad Agl & e Uz ales ug] - ufdril afiz Hidl & Farzea uz iz zak wafawor uz oft &2
SIBROIRG QI ol 3 i) I i asd © grileT A e o iz uerd @ e fice a @d # gfy aidl 2 wig s3d oem "affy - |’ &t
HAFA Ieool Blil 8 o1 ASHI DI Issderdl DI s 120 I gl 2k 3 ot &3 olic et 3 ®idand 2l 2 a3 forgy - AR o[ Uz THe! Y[
azar 3, Braw: saR el a warea gz sishy gema o5 Fwn 3 well w1 gdlaa agrsi Adiv Hid o) M gy ween ¥ gosrer gouor #
Halfere gifor ez il siiz ufdrdl @1 gril & a5 302 eylina @z ¢an & 3z Sord Yolelol ®I i Werdsu  Jokbl SToldcdl I YHIicr @ &

Excessive hours of artificial light adversely impacts our
A. Work schedule

B. Sleep cycle

C. Study hours

D. Moods and health

Choose the correct answer from the options given below

Hie Yebrel @ Al Har ad Jufden oo 3 g _ ¥ givrge OiE usdar & |
A, =Rl sa

B. forgy am

C. ucE @ IaI

D. #eilcon a Farzea

oifr o are femseal 3 31 7t one 9o ¢

[Question ID = 2069][Question Description = $2_q5Nz_PG_GP20_Q49]

1. Aand B only/awe A &z B [Option ID = 8273]
2. Band C only/wa= B diz C [Option 1D = 8274]
3. Band Donly/wa= B = D [Option 1D = 8275]
4, Cand D only/mxrr C 4z D [Option D = 8276]

Correct Answer :-
o Aand B only/«dsmm A iz B [Option 1D = 8273]

5) Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta and Bengaluru as the three
cities with the highest light pollution in India. It should serve to alert us to the looming problem of light pollution about
which we are not only doing so little to prevent but are also unaware about, Light pollution refers to the harmful impact of
artificial outdoor lighting. While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc has grown manifold in
recent decades, resulting in the problem of light pollution. Studies show that the brightness from outdoor lights has risen
steadily across India over a 20 year period, with New Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a
“very high light intensity pollution” rise between 1993 and 2013,

The use of excessive artificial outdoor lighting has several harmful implications not just for human health but for the
wellbeing of animals, birds, insects and our environment. Use of artificial lights at night gives us more working and studying
hours but it results in the problem of 'loss of night,' We find it difficult to fall asleep when the glow of streets enters our
homes. It impacts our sleep-wake rhythm, which could have serious implications for our moods and health. Illumination of
gardens impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light pollution. It makes
them disoriented, impacts their reproduction and thus their populations,
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offercsaisil @ oo A9 F Rl ve Sftaes geerer gqouor A s of Reell, worsm o dergs ot wva @ dier walfire gostor ggaor
act oPRI 3 T3 R0 S &4 goeIol YouvT &l Memail Fden & gia T 81 oo aifge o dad Rrernl Ada & o 29 aeme [ o @ 3
aftes Rraat s safirsr s ¥ gooter ggoor w1 arvad @it ars goiw - waven @ siforrne goa A & sl oftm ais gore - wrasan &t
IR ASD] UF AL 96M d@ ]1e 3¢ amal @ 3 # 8k 3 offz a5 &4 i} 3 ugel T T @30l d AGRKF Bl &, 8 B TD TPl 3
afygeiffl, gdiuel, gar scalfe & e T3t gEeT &% Jen a6 RN 8, ST yoerer yguur @) J9F 3cuoedl eIl & 31ermell & 3ol o) e 3
iy 20 adf &6t sraf2r # o sea o asd cosdd 3 g B9 arcdt S d oD - o gfy ol =f 3, R wif fiodll, dcienmon, mers, welcs iz
Iz geor i 1993 31 2013 o dta "awwafre gguvt digm” gfy 250 ot Besft

Meeitns SigH T Yoeror - wraren A o dad #Agsd & e Uz dfed gl - ufdrdl sfiv G & rarrea uz iz s weafawn uz oft @f
siforore geira &G afdy ot gfim arsdt @ grilst A san wm v gerd @ Rre fedy od g4 # gfy 8t 3 aig sad aad ufy - o’ &t
HIAFAT Irdod okl & A9 ASHI DI Fowaordl I G a2l 3 gdel 2 & dl adl ofic amal A ®idans arit 2 s forgy - APRW o[ U7 3G IE
Uzal 8, foraeT sardl Helicemail a Taree az siilz Yulra Us Aol 3 aPl ©f eide gl iz &idl ol 1t gunfaa oz 8 gorel gguul 3
walftrr s fdme Bl sfiv alerl @l 8l 3 s 308 [Goyla @z gan 3 afie SokD Ysiviel ®l 317 BeRsu  Jokbl Sordieal wl QI @l &

The loss of night, as mentioned in the passage, will lead to
arerior # e o1 JodiEr @ aopae Afe -~ ala A ar sen ?

[Question ID = 2070][Question Description = $2_qSNz_PG_GP20_Q50]

1. More human productivity/affrr smem stwsawm [Option ID = 8277]

2. Increase in education/fawn 3 gy [Option 1D = 8278]

3. The altered activities of nocturnal creatures/xffer il o afiaffn Rrmomm [Option 1D = 8279]
4, The well-being of human population/sresr sz o wem [Option 1D = §280]

Correct Answer :-

& More human productivity/afies #rem Iooesan [Option 1D = 8277



